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TNPSC GROUP I TEST BATCH 2024 
TEST VIII  GENERAL SCIENCE &  

APTITUDE AND MENTAL ABILITY (NUMBER SYSTEM) 
 

1. How many of the following are correctly matched?  
1. Terrestrial Planet     - Mars 
2. Airless and Waterless Planet   - Mercury  
3. Morning star     - Venus 
4. Jovian Planet     - Neptune  
a. One pair    b. Two pairs     c. Three pairs 
d. All the pairs   e. Answer not known 
fPo;tUtdtw;Ws; vj;jid ,izfs; rhpahf nghUe;jpAs;sJ?  
1. Gtpepfu; Nfhs;     - nrt;tha; 

 2. ePNuh> thAf;fNsh ,y;yhj Nfhs; - Gjd;  
 3. tpbnts;sp     - nts;sp 
 4. tpahod; epfu; Nfhs;   - neg;bA+d;  
 a. xU ,iz    b. ,U ,izfs;  c. %d;W ,izfs; 

d. midj;J ,izfSk;  e. tpil njhpatpy;iy 
 

2. Consider the following statement; choose the correct from the codes given below.  
Assertion (A): Venus is the second planet from Sun which is called Earth’s twin. 
Reason (R): It has the similar rotation period (24 hours 37 minus) as Earth 
a. (A) alone is correct (R) is incorrect  
b. (A) and (R) are correct and (R) is the correct explanation of (A)  
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A) 
e. Answer not known 
fPo;fhZk; thf;fpaq;fis mbg;gilahf nfhz;L rhpahd tpilia nfhLf;fg;gl;Ls;s 
FwpaPLfspy; ,Ue;J Nju;T nra;f. 
$w;W (A): #upadplkpUe;J ,uz;lhtjhf mike;Js;s nts;sp Nfhs;> Gtpapd; 
‘,ul;ilf; Nfhs;’ vd miof;fg;gLfpwJ. 
fhuzk; (R): mjd; xU ehs; vd;gJ Gtpapd; xU ehSf;F epfuhf (24 kzp Neuk; 37 
epkplq;fs;) ,Uf;Fk;. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 

3. Area covered by the Gulf of Mannar Biosphere Reserve in Indian Ocean is  
a. 5520 Km2    b. 9600 Km2    c. 10, 500 Km2   
d. 3, 500 Km2   e. Answer not known 
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,e;jpa ngUq;flypy; cs;s kd;dhh; capu;Nfhsf; fhg;gfj;jpd; gug;gsT> 
a. 5>520 rJu fp.kP  b. 9>600 rJu fp.kP   c. 10>500 rJu fp.kP  
d. 3>500 rJu fp.kP  e. tpil njhpatpy;iy 
 

4. The process of “Liquefaction of gases” can be achieved by  
a. Pressure on gas increased  b. Closeness of Molecules  
c. Temperature reduced   d. All the above 
e. Answer not known 
“thAf;fs; ePh;kkhjy;” vt;thW epfo;j;jg;gLfpwJ. 
a. thA kPJ mjpf mOj;jk; nrYj;JtJ   
b. %yf;$Wfs; neUf;fkhf miktJ 
c. ntg;gepiy FiwtJ 
d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 

  
5. Consider the following 

Assertion (A): In old church windows, the glass at the bottom is thicker than that at 
the top 
Reason (R): Glass is a very slow moving liquid  
a. (A) alone is correct (R) is incorrect  
b. (A) and (R) are correct and (R) is the correct explanation of (A)  
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): goikahd fz;zhb rd;dy;fspd; mbg;gFjp jbj;Jk;> Nky; gFjp 
nkype;Jk; fhzg;gLk;. 
fhuzk; (R): fz;zhb nkJthf tope;Njhlf;$ba ePh;kkhf cs;sJ 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
6. Consider the following  

Assertion (A): An adulterated substance will not indicate the true properties of the 
original substance 
Reason (R): Food can get adulterated due to carelessness or lack of proper 
handling. 
a. A alone is correct R is correct  
b. A and R are correct and R is the correct explanation of A  
c. A and R are incorrect  
d. A and R are correct and R is not the correct explanation of A 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): fyg;glk; nra;ag;gl;l nghUs;fs; J}a nghUs;fspd; cz;ikg; 
gz;Gfisg; ngw;wpUf;fhJ. 
fhuzk; (R): ftdkpd;ikahYk;> rhpahff; ifahsj fhuzq;fshYk; czTf; 
fyg;glk; Vw;glyhk;. 
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a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
7. Which of the following statement/s is/are true?  

1. Two objects that can exchange heat energy are in thermal contact  
2. Heat energy flows from lower temperature to higher temperature  
3. Thermal contact ceases to exist at thermal equilibrium 
a. 1 and 3 only  b. 1 only    c. 3 only    
d. All of the above  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. xU nghUs; kw;nwhU nghUspd; ntg;gepiyia ghjpf;Fkhdhy; mit ,uz;Lk; 

ntg;gj; njhlh;gpy; cs;sd. 
2. ntg;g Mw;wyhdJ Fiwe;j ntg;gepiyapypUe;J cau;e;j ntg;gepiyf;F 

flj;jg;gLfpwJ. 
3. ntg;g rkepiyapy;> ntg;gj; njhlh;G Jz;bf;fg;gLfpwJ. 
a. 1 kw;Wk; 3 kl;Lk;  b. 1 kl;Lk;   c. 3 kl;Lk;   
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 

 

8. A needle can magnetised by  
a. Rubbing against a metal bar    
b. Rubbing a magnet without changing direction of pole  
c. Rubbing a magnet using two poles at both ends  
d. Can never be magnetised  
e. Answer not known 
xU Mzp vt;thW fhe;jkhf;fg;glyhk;? 
a. xU ,Uk;Gj; jz;bd; kPJ Nja;j;jy 
b. fhe;jj;jpd; KidiaNah> jpiriaNah khw;whky; Nja;j;jy; 
c. fhe;jj;jpd; ,U Kidfisf; nfhz;L Mzpapd; ,U KidfspYk; Nja;j;jy; 
d. fhe;jg;gLj;j KbahJ  
e. tpil njhpatpy;iy 

 

9. Match the following and choose the correct one: 
A. Thermal station    1. Aralvaimozhi  
B. Hydel station   2. Ennore  
C. Atomic station   3. Koodankulam  
D. Wind Mill   4. Papanasam  
 A B C D 
a. 2 4 3 1 
b. 1 2 3 4 
c. 1 4 3 2  
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf. 
A. mdy;kpd; epiyak; 1. Muy;tha;nkhop 
B. ePh;kpd; epiyak;  2. vz;Z}h; 
C. mZkpd; epiyak; 3. $lq;Fsk; 
D. fhw;whiy   4. ghgehrk; 
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 A B C D 
a. 2 4 3 1 
b. 1 2 3 4 
c. 1 4 3 2  
d. 4 2 3 1 
e. tpil njhpatpy;iy 

 
10. Consider the following 

Assertion(A) : During sunrise and sunset most of the blue lights are scattered away 
and only the red light which gets least scattered reaches us. 
Reason(R)      : The light rays from the sun have to travel a longer distance  
in the atmosphere than at noon. 
a. Both (A) and (R) are true, (R) is the correct explanation 
b. Both (A) and (R) are true, (R) is not the correct explanation 
c. (A) is true but (R) is false 
d. Both (A) and (R) are false 
e. Answer not known 
$w;W (A) : #hpa cjak; kw;Wk; kiwtpd; NghJ ePy epw xspahdJ  
Kw;wpYkhfr; rpjwyile;J nrd;WtpLtjhy;> Fiwthfr; rpjwy; mile;j rptg;G epw 
xspNa ek;ik milfpwJ. 
fhuzk; (R): #hpa xspahdJ ez;gfypy; ,Ug;gijtpl tspkz;lyj;jpy; mjpfj; 
njhiyT nry;y Ntz;bapUf;fpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> (R) rhpahd tpsf;fk; 
b. (A) kw;Wk; (R) ,uz;Lk; rhp> (R) jtwhd tpsf;fk; 
c. (A) rhp (R) jtW 
d. (A) kw;Wk; (R) ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 

11. How many pairs are correct matched? 
Nature of object/image Condition 
1. Real image   - Rays actually converge at the image 
2. Virtual image  - Rays appear to diverge from the image 
3. Real object   - Rays actually diverge from the object 
4. Virtual object  - Rays appear to converge at the object 
a. One pair   b. Two pairs   c. Three pairs 
d. All the pairs  e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
nghUs;/gpk;gj;jpd; jd;ik  epge;jid 
1. nka; gpk;gk;   - cz;ikahfNt fjph;fs; gpk;gj;jpy; FtpAk; 
2. kha gpk;gk;  - gpk;gj;jpypUe;J fjph;fs; gphptJ Nghd;W Njhd;Wk; 
3. nka;g; nghUs;  - cz;ikahfNt fjph;fs; nghUspypUe;J gphptilAk; 
4. khag; nghUs;  - fjph;fs;> nghUspy; Ftptijg; Nghd;W Njhd;Wk;  
a. xU ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. midj;J ,izfSk; e. tpil njhpatpy;iy 

 

12. A ball is gently dropped from a height of 20m.  If its velocity increases uniformly at 
the rate of 10ms-2, with what velocity will it strike the ground? (Take g = 10m/s2). 
a. 10 m/s   b. 10 m/s2   c. 20 m/s   
d. 20 m/s2   e. Answer not known 



 

5 | Page  044-24339436, 42867555, 9840226187 
 

xU ge;J 20 kPl;lh; cauj;jpy; ,Ue;J nkJthf fPNo tplg;gl;lJ.  mjd; rPuhd 
jpirNtf khWghl;L tPjk; 10 kP/tpehb2.  mJ ve;j jpirNtfj;jpy; jiuiaj; njhLk;? 
(g = 10 kPl;lh;/tpehb2) 
a. 10 kPl;lh;/tpehb  b. 10 kPl;lh;/tpehb2  c. 20 kPl;lh;/tpehb   
d. 20 kPl;lh;/tpehb2  e. tpil njhpatpy;iy 

 
13. Identify the correct statement about the properties of magnetic lines of force 

i. Magnetic lines of force start from the North pole and end at the South pole. 
ii. Magnetic lines of force intersect at poles. 
iii. Magnetic lines of force will be maximum at the poles than at the equator. 
a. i and ii   b. ii and iii   c. i and iii   
d. All the above  e. Answer not known 
fPo;fz;ltw;Ws; fhe;jtpirf; NfhLfspd; gz;Gfs; gw;wpa rhpahd thf;fpaq;fisj; 
Njh;T nra;f. 
i. fhe;jtpirf; NfhLfs; fhe;jj;jpd; tl JUtj;jpy; Jtq;fp njd; JUtj;jpy; 

KbtilAk; 
ii. fhe;jtpirf; NfhLfs; JUtq;fspy; ntl;bf; nfhs;Sk;. 
iii. fhe;jtpirf; NfhLfs; fhe;jj;jpd; eLg;gFjpia tpl JUtq;fspy; mjpfkhf 

,Uf;Fk;. 
a. i kw;Wk; ii   b. ii kw;Wk; iii   c. i kw;Wk; iii   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
14. A current carrying conductor of certain length, kept perpendicular to the magnetic 

field experiences a Force F.  What will be the force if the current is increased four 
times, length is halved and magnetic field is tripled? 
a. 4 F  b. 6 F  c. 8 F  d. 10 F  e. Answer not known 
fhe;jg; Gyj;jpw;F nrq;Fj;jhf itf;fg;gl;l xU Fwpg;gpl;l ePsKila kpd;Ndhl;lk; 
ghAk; flj;jpahdJ xU tYthd tpir Ff;F cl;gLfpwJ.  kpd;Ndhl;lkhdJ ehd;F 
klq;fhfTk;> ePsk; ghjpahfTk; kw;Wk; fhe;jg;Gyk; %d;W klq;fhfTk; mjpfhpj;jhy; 
tpir vt;thW mikAk;? 
a. 4 F  b. 6 F  c. 8 F  d. 10 F  e. tpil njhpatpy;iy 

 

15. Consider the following statements. 
Assertion (A): The distance between Earth and Sun at aphelion position is taken as 
one astronomical unit. 
Reason (R): One astronomical unit is 1.516 х 1011m 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A). 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): xU thdpay; myF vd;gJ G+kp Nra;ik epiyapy; cs;sNghJ> G+kpf;Fk; 
#upaDf;Fk; ,ilNaAs;s njhiyT. 
fhuzk; (R): xU thdpay; myF 1.516 х 1011 kP MFk;. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
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16. Find out the correct statement 
I. If either speed (or) direction of a body changes, the velocity is non-uniform. 
II. The object undergoes acceleration when its speed (or) direction changes. 
a. I only   b. II only   c. Both I and II  
d. Neither I nor II  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
I. xU nghUshdJ jdJ jpiriaNah my;yJ Ntfj;jpidNah khw;wpf; 

nfhz;lhy; mg;nghUs; rPuw;w jpirNtfj;jpy; cs;sJ. 
II. xU nghUspd; Ntfj;jpNyh my;yJ jpirapNyh khw;wk; Vw;gl;lhy; 

mg;nghUshdJ KLf;fkilfpwJ. 
a. I kl;Lk;   b. II kl;Lk;    c. I kw;Wk; II   
d. Nkw;$wpa vJTk; my;y e. tpil njhpatpy;iy 

 
17. Consider the following statement. 

Assertion (A): A ring has the centre of gravity lie on its geometric centre. 
Reason (R): The centre of gravity of an object is the point at which the entire weight 
of the object appears to act. 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A). 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): tisaj;jpd; <h;g;G ikak; mjd; tbtpay; ikaj;jpy; mikfpwJ. 
fhuzk; (R): vg;Gs;spapy; xU nghUspd; vil KOtJk; nray;gLtJ Nghy;  
   Njhd;WfpwNjh mg;Gs;spNa <u;g;G ikak; MFk;. 
a. (A) kl;Lk; rhp (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A) tpw;fhd rhpahd tpsf;fkhFk;. 

c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)> (A) tpw;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
18. Identify the incorrectly matched pairs among the following 

I. Magnesium  - Crackers  
II. Gallium   - Mobile Phones 
III. Silicon   - Computer chips  
IV. Graphite   - Good conductor of electricity 
a. II and III only   b. I and II only    c. I, II and IV Only   
d. None of the above e. Answer not known 
jtwhd ,izfis fz;lwpf. 
I. nkf;dPrpak;  - ntbg; nghUs;fs; 
II. fhypak;  - miyNgrp 
III. rpypf;fhd;  - fzpdp rpg;Gfs; 
IV. fpuhigl;  - kpd;rhu flj;jp 
a. II kw;Wk; III kl;Lk;  b. I kw;Wk; II kl;Lk;   c. I, II kw;Wk; IV kl;Lk; 
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
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19. Arrange the following theories in chronological order of discoveries 
I. Bohr theory   II. Dalton theory  III. Rutherford theory  
IV. Schrodinger theory  V. J.J. Thomson theory 
a. I, II, V, III, IV  b. II, V, III, IV, I  c. II, III, IV, V, I   
d. II, V, III, I, IV  e. Answer not known 
gpd;tUk; mZf;nfhs;iffis mtw;wpd; fz;Lgpbg;gpd; fhythpirg;gb 
xOq;FgLj;Jf. 
I. Nghhpd; mZf;nfhs;if  II. lhy;ldpd; mZf;nfhs;if  
III. &jh;Nghh;bd; mZf;nfhs;if IV. ~pNuhbq;fh; mZf;nfhs;if 
V. jhk;rdpd; mZf;nfhs;if 
a. I, II, V, III, IV  b. II, V, III, IV, I  c. II, III, IV, V, I   
d. II, V, III, I, IV  e. tpil njhpatpy;iy 

 
20. Which of the following is/are true?  

I. Neutron does not have any charge 
II. The Number of neutrons in an atom is equal to the number of protons  
III. Hydrogen (Protium) atom does not have neutron 
a. I and III only   b. I only    c. I and II only    
d. I, II and III   e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahdJ vJ? 
I. epa+l;uhd; vt;tpj kpd;RikAk; nfhz;bUf;ftpy;iy. 
II. xU mZtpy;> epa+l;uhdpd; vz;zpf;ifAk;> GNuhl;lhdpd; vz;zpf;ifAk; rkk;. 
III. i`l;u[d; (GNuhl;bak;) mZtpy; epa+l;uhd; ,y;iy. 
a. I kw;Wk; III kl;Lk;  b. I kl;Lk;   c. I kw;Wk; II kl;Lk;   
d. I, II kw;Wk; III  e. tpil njhpatpy;iy 

 
21. Which of the following are correctly marched?  

I. PSLV   - Geostationary Orbit  
II. Rohini  - First satellite of ISRO in orbit  
III. GSLV – D3  - Cryogenic Engine  
IV. ISRO  - Formed in 1962 
a. I and II only   b. I and III only   c. I, III and IV only   
d. I, II, III and IV   e. Answer not known 
fPo;tUtdtw;Ws; vit rhpahf nghUe;jpAs;sJ. 
I. PSLV  - Gtprhh; tl;lg;ghij 
II. Nuh`pzp - ,];Nuhthy; Rw;Wg;ghijapy; Vtg;gl;l Kjy; Jizf;Nfhs; 
III. GSLV – D3 - f;iuNah[dpf; ,ae;jpuk; 
IV. ,];Nuh - 1962 y; epWtg;gl;lJ 
a. I kw;Wk;  II kl;Lk;   b. I kw;Wk;  III kl;Lk;  c. I, III kw;Wk;  IV kl;Lk;   
d. I, II, III kw;Wk;  IV  e. tpil njhpatpy;iy 

 
22. Match the following: 

A. Thrust   1. N m-2 
B. Pressure   2. Poise 
C. Surface Tension  3. Newton 
D. Viscosity   4. N m-1 
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 A B C D 
a. 1 3 2 4 
b.  3 4 2 1 
c. 3 1 4 2 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf. 
A. ce;J tpir  1 Nm-2 
B. mOj;jk;   2. gha;]; 
C. gug;G ,Otpir  3. epA+l;ld; 
D. ghfpay; tpir  4. Nm-1 
 A B C D 
a. 1 3 2 4 
b.  3 4 2 1 
c. 3 1 4 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
23. Match the following and choose based on images formed by concave mirror 

A. At infinity   1. Diminished 
B. Beyond C   2. Same size as the object 
C. At C   3. Highly diminished 
D. At F   4. Highly magnified 
 A B C D 
a. 4 1 3 2 
b. 1 4 2 3 
c. 3 1 2 4 
d. 1 4 3 2 
e. Answer not known 
Fop Mbapy; Njhd;Wk; gpk;gj;ijg; nghUj;J> fPo;tUtdtw;iw nghUj;jp rhpahd 
tpilia Nju;T nra;f. 
A. <wpyhj; njhiytpy; 1. rpwpaJ 
B. C-f;F mg;ghy;  2. nghUspd; mstpy; ,Uf;Fk; 
C. C-,y;   3. kpfTk; rpwpaJ 
D. F-,y;   4. kpfg;nghpaJ 
 A B C D 
a. 4 1 3 2 
b. 1 4 2 3 
c. 3 1 2 4 
d. 1 4 3 2 
e. tpil njhpatpy;iy 

 
24. If two plane mirrors are inclined to each other at an angle of 900, find the number of 

images formed. 
a. 4  b. 3  c. 5  d. 2  e. Answer not known 
xd;Wf;nfhd;W 90° Nfhz rha;tpy; itf;fg;gl;l ,uz;L rkjsf; fz;zhbfSf;F 
,ilNa Njhd;Wk; gpk;gq;fspd; vz;zpf;if. 
a. 4  b. 3  c. 5  d. 2  e. tpil njhpatpy;iy 
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25. Which of the following statement is correct? 
I. Electric charges can neither be created nor be destroyed. 
II. Small amount of charge that can exist freely is called elementary charge (e). 
III. Value of (e) is 1.602 ×10-19 C 
a. I and II only  b. I only   c. I, II and III   
d. None of the above e. Answer not known 
rhpahd $w;Wfis fz;lwpf? 
I. kpd;Jfs;fis Mf;fNth mopf;fNth ,ayhJ. 
II. jdpj;J fhzg;gLk; Jfs;fspd; kpd;D}l;lkhdJ rpWk kpd;D}l;lk; (e) vd 

Fwpg;gplg;gLfpwJ. 
III. e -d; kjpg;G 1.602 ×10-19 $Y}k; MFk;. 
a. I kw;Wk; II kl;Lk;  b. I kl;Lk;   c. I, II kw;Wk; III   
d. Nkw;$wpa vJTkpy;iy e. tpil njhpatpy;iy 

 
26. Which of the following is not an effect of earth’s rotation? 

a. Coriolis force   
b. Formation of tides 
c. Flattening of Earth at two poles  
d. Variation in distribution of solar energy 
e. Answer not known 
gpd;tUtdtw;Ws; vJ Gtp Row;rpapd; tpisT my;y? 
a. nfhhpahyp]; tpir   b. fly; Xjq;fs; cUthtJ 
c. Gtpapd; JUtq;fs; jl;ilahtJ d. #hpaf;fjph; guty; 
e. tpil njhpatpy;iy 

 
27. The length of day time at 60ºN during summer solstice is. 

a. 12 hrs     b. 16 hrs 18 min   
c. 18 hrs 27 min   d. 24 hrs (2 months) 
e. Answer not known 
60ºtlf;fpy; Nfhil ePz;l gfy; ,uT ehsd;W gfy; Neuj;jpd; fhy msT. 
a. 12 kzpNeuk;   b. 16 kzpNeuk; 18 epkplq;fs; 
c. 18 kzpNeuk; 27 epkplq;fs; d. 24 kzpNeuk; (2 khjq;fSf;F) 
e. tpil njhpatpy;iy 

 
28. What could be the final temperature of a mixture of 100 g of water at 90ºC and 600 

g of water at 20ºC? 
a. 18ºC b. 55ºC c. 60ºC  d. 30ºC e. Answer not known 
90ºC-y; ,Uf;Fk; 100fp ePiuAk; 20ºC-y; ,Uf;Fk; 600fp ePiuAk; fyf;Fk;NghJ 
fpilf;Fk; fyitapd; ,Wjp ntg;gepiy vd;d? 
a. 18ºC b. 55ºC c. 60ºC  d. 30ºC e. tpil njhpatpy;iy 

 
29. Speed of sound is maximum in 

a. Aluminium  b. Iron    c. Sea water  
d. Hydrogen   e. Answer not known 
xypapd; Ntfk; vjpy; mjpfkhf ,Uf;Fk;? 
a. mYkpdpak;  b. ,Uk;G   c. fly; ePh;   
d. i`l;u[d;  e. tpil njhpatpy;iy 
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30. Nearer an object to the surface of earth, the required orbital velocity is 
a. Decreases    b. Increases   c. Does not change 
d. Faster than the escape velocity e. Answer not known 
xU nghUs; Gtpg;gug;gpw;F mUfpy; tutu> mjd; Rw;wpaf;f jpirNtfk; 
a. FiwAk;    b. mjpfhpf;Fk;   
c. khwhky; ,Uf;Fk;   d. tpLgL jpirNtfj;ijtpl mjpfkhFk; 
e. tpil njhpatpy;iy 

 
31. Emulsification is the process of turning 

 a. Solid mixture into emulsion b. Liquid mixture  into emulsion 
 c. Gas mixture into emulsion d. Solid mixture into a colloid 

e. Answer not known 
 ghy;kkhf;fy; vDk; epfo;tpy; 

a. jpz;kf; fyit ghy;kkhFk; b. jputf; fyit ghy;kkhFk; 
c. thAf; fyit ghy;kkhFk; d. jpz;kf; fyit $o;kkhFk; 
e. tpil njhpatpy;iy 

 
32. Atoms of different elements with same number of neutrons are, 

 a. Isotopes    b. Isotones   c. Isobars   
 d. Zero valence atoms  e. Answer not known 
 xj;j epA+l;uhd; vz;zpf;if nfhz;l ntt;NtW jdpkq;fspd; mZf;fs; 
 a. INrhNlhg;Gfs;   b. INrhNlhd;fs;  c. INuhghh;fs;  
 d. Rop ,izjpwd; mZf;fs; e. tpil njhpatpy;iy 

 
33. Identify the correct statement/s 

I. Chemical properties of elements are decided by the valence electrons. 
II. Elements with same number of electrons in the valence shell show similar 

properties. 
a. I only      b. II only   c. Both I and II   
d. Neither I nor II  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf 
I. jdpkq;fspd; Ntjpg;gz;Gfs; mtw;wpd; ,izjpwd; vyf;l;uhd;fshy; 

jPh;khdpf;fg;gLfpd;wd. 
II. ntsptl;lg;ghijapy; rk vz;zpf;ifapy; vyf;l;uhd;fis cila jdpkq;fs; 

xNu khjphpahd gz;Gfisf; nfhz;bUf;Fk;. 
 a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; II  

d. I kw;Wk; II ,uz;Lky;y  e. tpil njhpatpy;iy 

 
34. Identify the correctly matched pairs among the following. 

I. First equation of motion – v = u + at 
II. Second equation of motion – s = at + ½ ut2 
III. Third equation of motion – u2 = v2 + 2as 
a. I and II only  b. II only   c. All the above 
d. I only   e. Answer not known 
gpd;tUtdtw;wpy; rhpahd ,izia Njh;e;njL. 
I. Kjy; ,af;fr; rkd;ghL – v = u + at 
II. ,uz;lhk; ,af;fr; rkd;ghL – s = at + ½ ut2 
III. %d;whtJ ,af;fr; rkd;ghL – u2 = v2 + 2as 
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a. I kw;Wk; II   b. II kl;Lk;   c. midj;Jk;  
d. I kl;Lk;   e. tpil njhpatpy;iy 

 
35. Which of the following statement/s is/are correct? 

I. Barometer works by balancing the mercury in the glass tube against outside 
air pressure. 

II. If air pressure decreases, it pushes more of mercury up into the tube. 
III. Air trapped inside the tube provides a precise measure of air pressure. 
a. I only   b. II only   c. Both I and II   
d. Neither I nor II  e. Answer not known 
fPo;fz;l $w;Wfspy; vJ/vit rhpahdJ MFk;? 
I. fhw;wOj;jkhdpapy; cs;s ghjurk; ntspapy; cs;s fhw;wpd; mOj;jj;ij 

rkd;nra;J ,aq;FfpwJ. 
II. fhw;wpd; mOj;jk; FiwAk; NghJ> nfhs;fydpy; cs;s ghjurk; fz;zhbf; 

FohapDs; js;sg;gLfpwJ. 
III. Fohapd; cs;Ns milgl;L ,Uf;Fk; fhw;W tspkz;lyj;jpd; mOj;jj;ijj; 

Jy;ypakhf toq;FfpwJ. 
a. I kl;Lk;   b. II kl;Lk;   c. ,uz;Lk;   
d. ,uz;Lk; ,y;iy  e. tpil njhpatpy;iy 

 
36. What would be the next term of the sequence 2, 5, 9, 19, 37, ? 

a. 67  b. 76  c. 75  d. 87  e. Answer not known 
gpd;tUk; njhlhpy; mLj;J tUk; cWg;G vJ 2, 5, 9, 19, 37, ? 
a. 67  b. 76  c. 75  d. 87  e. tpil njhpatpy;iy 

 
37. Given below are two series with specific pattern What will come in the plate of (e)? 

7 13 29 53 113 217 
5 a. b. c. d. (e) 

a. 173  b. 153  c. 171  d. 151  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s> Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy;> (e)-d; kjpg;G 
fhz;f. 

7 13 29 53 113 217 
5 a. b. c. d. (e) 

a. 173  b. 153  c. 171  d. 151  e. tpil njhpatpy;iy 
 

38. Kavi and kural each had a number of apples Kavi said to Kural "If you give me 4 of 
your apples my number will be thrice yours'. Kural replied "If you give me 26, my 
number will be twice yours. How many did each have with them?  
a. 40, 12 b. 36, 36 c. 50, 22 d. 57, 15 e. Answer not known 
ftpaplKk;> FwsplKk; Mg;gps; goq;fs; cs;sd. 'eP vdf;F 4 goq;fisj; je;jhy;> 
vd;dplk; cs;s goq;fspd; vz;zpf;if cd;dplk; cs;sijg; Nghy %d;W klq;F 
vd ftp Fwsplk; $wpdhh;. 'eP vdf;F 26 goq;fisj; je;jhy; vd;dplk; cs;s 
goq;fspd; vz;zpf;if> cd;dplk; cs;sijg;Nghy ,U klq;fhFk;"> vd Fws; 
gjpyspj;jhhh;. vdpy; xt;nthUthplKk; cs;s goq;fspd; vz;zpf;if vt;tsT?  
a. 40, 12 b. 36, 36 c. 50, 22 d. 57, 15 e. tpil njhpatpy;iy 

 
39. The cube of an odd natural number is  

a. prime number    b. Even number   c. odd number  
d. may be even may be odd  e. Answer not known 
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xw;iw ,ay; vz;zpd; fdk; MdJ  
a. gfh vz;     b. ,ul;il vz;    
c. xw;iw vz;   d. ,ul;il vz; my;yJ xw;iw vz;  
e. tpil njhpatpy;iy 

 
40. The cost of a pen and a note book is Rs. 60. The cost of a pen is Rs. 10 less than that 

of a note book. Find the cost price of note book. 
a. 35  b. 25  c. 15  d. 45  e. Answer not known 
xU Ngdh kw;Wk; Nehl;Lg; Gj;jfj;jpd; tpiy & 60. xU Ngdhtpd; tpiy xU 
Nehl;bd; tpiyia tpl & 10 FiwT vdpy; Nehl;Lg; Gj;jfj;jpd; tpiy vd;d?  
a. 35  b. 25  c. 15  d. 45  e. tpil njhpatpy;iy 

 
41. Which of the following statement/s is/are correct? 

I. Whenever there is a change in magnetic flux linked with a closed circuit, an 
emf is produced. 

II. The emf induced varies directly as the rate at which the flux changes 
III. The direction of induced current was given by both Lenz’s law and Fleming’s 

Right Hand Rule. 
a. I and II only  b. I only   c. II and III only  
d. I, II and III  e. Answer not known 
gpd;tUk; thf;fpaq;fspy; vJ rhpahdit? 
I. fhe;jg;ghak; khWk;nghOJ fhe;jg;Gyj;jpy; itf;fg;gl;l kpd;Rw;wpy; xU 

kpd;dpaf;F tpir (emf) cUthFk;. 
II. kpd;dpaf;F tpirapd; kjpg;G fhe;jg;gha khWghl;L tPjj;ijg; nghWj;J 

mikAk;. 
III. J}z;lg;gl;l kpd;Ndhl;lj;jpd; jpiria nyd;]pd; tpjp kw;Wk; /gpnskpq; tyJ 

if tpjp %yk; tpsf;fg;gLfpwJ. 
a. I kw;Wk; II kl;Lk;  b. I kl;Lk;   c. II kw;Wk; III kl;Lk;  
d. I, II kw;Wk; III  e. tpil njhpatpy;iy 

 

42. When the temperature of a gas is kept constant the volume of a fixed mass of gas is 
inversely proportional to its pressure. This law is,  
a. Boyle’s Law   b. Charles Law  c. Avogadro’s law   
d. Law of thermal equilibrium   e. Answer not known 
khwh ntg;gepiyapy; xU Fwpg;gpl;l epiwAila thAtpd; mOj;jk; mt;thAtpd; 
gUkDf;F vjph;j;jftpy; mikAk;. vd $Wk; tpjp 
a. ghapy; tpjp    b. rhh;y]; tpjp  c. mtfhl;Nuh tpjp    
d. ntg;grkepiy tpjp  e. tpil njhpatpy;iy 
 

43. According to laws of reflection  
1. The incident wave, the normal to the reflecting surface and reflected wave at the 

point of incidence lie in the same plane.     
2. The angle of incidence is equal to the angle of reflection 
a. Both 1, 2 are correct   b. Only 1 is correct   c. Only 2 is correct   
d. Both 1, 2 are incorrect   e. Answer not known 
vjpnuhypg;G tpjpfs; gb> 
1. gLfjph;> vjpnuhypf;Fk; jsj;jpy; tiuag;gLk; nrq;Fj;Jf;NfhL kw;Wk; 

vjpnuhypg;Gfjph; Mfpait xNujsj;jpy; mikAk;. 
2. gLNfhzk; kw;Wk; vjpnuhypg;Gf;Nfhzk; rkk;. 
a. 1, 2 Mfpa ,uz;LNk rhp   b. 1 kl;Lk; rhp   c. 2 kl;Lk; rhp   
d. 1, 2 Mfpa ,uz;LNk jtW  e. tpil njhpatpy;iy 



 

13 | Page  044-24339436, 42867555, 9840226187 
 

44. Which of the following statement/s is/are correct with respect to sign conventions? 
I. The Pole of the mirror (P) is taken as the origin 
II. All distances measured perpendicular to and above axis are considered 

negative. 
III. Distance and height of the virtual image is always positive. 
a. I and II only  b. I and III only   c. I, II and III   
d. None of the above e. Answer not known 
FwpaPl;L kuGfs; Fwpj;j gpd;tUk; thf;fpaq;fspy; vJ/vit rhpahdit? 
I. midj;J njhiyTfSk; Mb ikaj;jpypUe;Nj (P) mstplg;gLfpd;wd. 
II. Kjd;ik mr;Rf;F nrq;Fj;jhfTk; mjw;F Nky;Nehf;fpAk; cs;s njhiyTfs; 

vjpu;Fwpahf fUjg;gLk;. 
III. kha gpk;gj;jpd; njhiyT kw;Wk; cauk; vg;NghJNk Neu;FwpaPL. 
a. I kw;Wk; II   b. I kw;Wk; III   c. I, II kw;Wk; III 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
45. Consider the following 

Assertion (A): Astronomical telescopes use concave mirrors. 
Reason (R): Image formed by a concave mirror would to magnified and inverted. 
a. (A) alone is correct (R) is incorrect 
b. (A) and (R) are correct and (R) is the correct explanation of (A). 
c. (A) and (R) are incorrect 
d. (A) and (R) are correct but (R) is not the correct explanation of (A). 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): thdpay; njhiyNehf;fpfspy; Fopahb gad;gLj;jg;gLfpwJ. 
fhuzk; (R): Fopahb Vw;gLj;Jk; gpk;gk; ngupajhfTk; kw;Wk; jiyfPohfTk; ,Uf;Fk; 
a. (A) rup> Mdhy; (R) jtW 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
c. (A) kw;Wk; (R) jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
46. Arrange the following in descending order based on their conductance of heat. 

i. Brass  ii. Copper  iii. Aluminium  iv. Iron 
a. iii, iv, ii, i  b. iv, iii, i, ii    c. ii, iii, i, iv   
d. iv, ii, iii, i  e. Answer not known  
ntg;gf; flj;jy; jpwd;fis mbg;gilahf nfhz;L fPo;fz;ltw;iw ,wq;Fk; 
tupirapy; tupirg;gLj;Jf? 
i. gpj;jis  ii jhkpuk;  iii. mYkpdpak; iv. ,Uk;G 
a. iii, iv, ii, i  b. iv, iii, i, ii    c. ii, iii, i, iv   
d. iv, ii, iii, i  e. tpil njhpatpy;iy 

 
47. Hysteresis loss in a transformer core can be minimized by 

a. Using steel of high silicon content in making the core 
b. Using very thin lamination of core 
c. Using wires of larger diameter 
d. Winding coils one over the other 
e. Answer not known 
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vjd; %yk; kpd;khw;wpapd; cs;sfj;jpy; Vw;gLk; fhe;jj; jaf;f ,og;G rpWkkhf 
Fiwf;fg;gLfpwJ?  
a. mjpf rpypf;fhd; nfhz;l v/fpdhy; kpd;khw;wpapd; cs;sfj;ij nra;tjd; %yk;  
b. nky;ypa jfLfshy; cs;sfk; nra;ag;gLtjd; %yk;  
c. mjpf tpl;lk; nfhz;l fk;gpfisg; gd;gLj;Jtjd; %yk;   
d. fk;gpr;RUs; Rw;Wfis xd;wpd; kPJ xd;whf Rw;Wtjd; %yk;  
e. tpil njhpatpy;iy 

 
48. Which of the following statements is / are correct 

1. In Doppler effect, the frequency of the sound heard by listener is equal to the 
original frequency of sound emitted by source 

2. The Doppler effect is impossible when source and listener moving in mutually 
perpendicular directions 

a. Both 1, 2 are correct  b. Only 2 is correct 
c. Only 1 is correct   d. Both 1, 2 are incorrect 
e. Answer not known 
gpd;tUk; $w;Wfspy; vit rhpahdJ? 
1. lhg;sh;tpistpy; Nfl;fg;gLk; xypapd; mjph;ntz;Zk;> xyp%yj;jpd; 

mjph;ntz;Zk; rkk;. 
2. xyp%yk; kw;Wk; Nfl;Feh; xd;Wf;nfhd;W nrq;Fj;jhf efUk;NghJ lhg;sh; tpisT 

eilngwhJ. 
a. 1, 2 Mfpa ,uz;LNk rhp   b. 2 kl;Lk; rhp  
c. 1 kl;Lk; rhp    d. 1, 2 Mfpa ,uz;LNk jtW   
e. tpil njhpatpy;iy 
 

49. Which of the following statements is / are correct 
1. An isotope of Californium (CF – 252) is used in the airlines to detect explosives 

in the luggage 
2. Americium (AM – 241) is used in industries as a smoke detector 
a. Both 1, 2, are correct   b. Only 1 is correct 
c. Only 2 is correct   d. Both 1, 2 are incorrect   
e. Answer not known 
gpd;tUk; $w;Wfspy; vit rhpahdJ? 
1. thD}h;jpfspy; vLj;Jr; nry;yg;gLk; Rikfspy; ntbnghUs;fis fz;lwpa 

fypNghh;dpak; - 252 (CF 252) gad;gLfpwJ. 
2. njhopw;rhiyfspy; Gifia czUk; fz;Lzh;tpahf gad;gLtJ mkh;rpak; - 241 

(AM 241) 
a. 1, 2 Mfpa ,uz;LNk rhp    b. 1 kl;Lk; rhp 
c. 2 kl;Lk; rhp   d. 1, 2 Mfpa ,uz;LNk jtW 
e. tpil njhpatpy;iy 

 
50. Consider the following  

Assertion (A) : A single teaspoon of nuclear matter would weigh about trillion tons 
Reason (R) : All the nuclei (z > 10) have the same nuclear density of 2.3 × 1017 kgm-3  
a. (A) alone is true (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. Both (A) and (R) are false 
d. Both (A) and (R) are true but (R) is not the correct explanation of (A) 
e. Answer not known 
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gpd;tUtdtw;iw Ma;f. 
$w;W (A) : xU Njf;fuz;b msT mZf;fUtpd; gUg;nghUspd; epiwahdJ 
fpl;lj;jl;l bhpy;ypad; ld;fSf;Fr; rkk;. 
fhuzk; (R) : midj;J mZf;fUf;fSk; (z > 10) 2.3 × 1017 kgm-3 vDk; xNu 
mlh;j;jpia cilad 
a. (A) kl;Lk; rhp (R) jtW    
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) (A) tpw;F rhpahd tpsf;fkhFk; 
c. (A) kw;Wk; (R) ,uz;Lk; jtW     
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A) tpw;F rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
51. Conversion of temperature differences into electrical voltage is known as 

a. Joule’s law of heating   b. Joule’s law of cooling 
c. Thermoelectric effect   d. None of the above  
e. Answer not known 
ntg;gepiy NtWghl;il kpd;dOj;j NtWghlhf khw;Wk; epfo;T  
a. [{y; ntg;g tpjp     b. [{y; Fsph;r;rp tpjp 
c. ntg;g kpd; tpisT   d. Nkw;fz;l vJTkpy;iy  
e. tpil njhpatpy;iy 

 
52. The lowest natural frequency is called 

a. Fundamental frequency  b. Zeroth over tone 
c. First over tone   d. Second over tone 
e. Answer not known 
,ay; mjph;ntz;zpd; kpff; Fiwe;j kjpg;G> 
a. mbg;gil mjph;ntz;  b. Rop Nkw;Ruk; 
c. Kjy; Nkw;Ruk;   d. ,uz;lhtJ Nkw;Ruk; 
e. tpil njhpatpy;iy 

 
53. Speed of sound in gas is inversely proportional to 

a. Temperature   b. Square root of temperature  
c. Density of the gas  d. Square root of density of the gas 
e. Answer not known 
thAtpy; xypapd; jpirNtfk; vjw;F vjph;j;jftpy; mikAk;? 
a. ntg;gepiy   b. ntg;gepiyapd; ,Ukb %yk; 
c. thAtpd; mlh;j;jp  d. thAtpd;mlh;j;jpapd; ,Ukb %yk; 
e. tpil njhpatpy;iy 

 
54. Calculate the number of protons, electrons, neutron in atom 13Al27 

a. 13, 13, 27  b. 13, 27, 14   c. 13, 13, 14   
d. 14, 13, 13   e. Answer not known 

13Al27 mZtpy; cs;s GNuhl;lhd;> vyf;l;uhd;> epA+l;uhd;fspd; vz;zpf;ifiaf; 
fzf;fpLf.  
a. 13, 13, 27  b. 13, 27, 14   c. 13, 13, 14   
d. 14, 13, 13   e. tpil njhpatpy;iy 

 
55. Identify the group which is not a Doberneiner triad  

a. Be, Mg, Cr  b. Li, Na, K   c. Cl, Br, I    
d. Ca, Sr, Ba   e. Answer not known 
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lhgh;dPhpd; Kk;ik njhFjpapy; my;yhj njhFjpia fz;lwpf.  
a. Be, Mg, Cr  b. Li, Na, K   c. Cl, Br, I    
d. Ca, Sr, Ba   e. tpil njhpatpy;iy 
 

56. Electronic configuration of Ne  
a. 2, 8   b. 2, 8 8   c. 2, 8, 18, 8   
d. 2    e. Answer not known 
Ne d; vyf;l;uhd; mikg;G  
a. 2, 8   b. 2, 8 8   c. 2, 8, 18, 8   
d. 2    e. tpil njhpatpy;iy 

  
57. H2PO4 is  

a. Monobasic acid    b. Dibasic acid   c. Tribasic acid   
d. None of the above   e. Answer not known 
H2PO4 vd;gJ  
a. xw;iwf; fhuj;Jt mkpyk; b. ,Ufhuj;Jt mkpyk;  
c. Kk;ikf;fhuj;Jt mkpyk; d. Nkw;fz;l vJTkpy;iy  
e. tpil njhpatpy;iy 

 
58. Match the following:  

 Drugs    Examples  
A. Antipyretics   1. Iodoform  
B. Antiseptics   2. Aspirin 
C. Antimalarial  3. Penicillin  
D. Antibiotics   4. Chloroquine  
 A B C D 
a. 2 1 3 4 
b. 2 1 4 3  
c. 1 2 3 4 
d. 1 2 4 3  
e. Answer not known 
nghUj;Jf:  
 kUe;Jfs;   cjhuzk;  
A. fha;r;ry; epthuzp  1. mNahNlhghh;lk;  
B. Giuj;jLg;ghd;   2. M];gphpd;  
C. kNyhpah epthuzp 3. ngdprpypd;  
D. Ez;Zaph; vjphpfs;  4. FNshNuhFapd;  
 A B C D 
a. 2 1 3 4 
b. 2 1 4 3  
c. 1 2 3 4 
d. 1 2 4 3 
e. tpil njhpatpy;iy  
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59. Match the following:  
Type of additive    Example  
A. Preservatives    1. Saccharine  
B. Artificial sweeteners   2. Monosodium slutamate 
C. Flavor enhancers   3. Carotene 
D. Antioxidants   4. Vinegar  
 A B C D 
a. 4 1 2 3  
b. 4 1 3 2  
c. 1 4 2 3  
d. 1 4 3 2  
e. Answer not known 
nghUj;Jf:  
czTr; Nrh;f;if tiffs;  cjhuzk;  
A. czT gjg;gLj;jpfs;   1. rhf;fhpd;  
B. nraw;if ,dpg;G+l;bfs;  2. NkhNdhNrhbak; FSl;lNkl; 
C. RitA+l;bfs;   3. fNuhl;bd;  
D. vjph; Mf;rp[Ndw;wpfs;   4. tpdpfh;  
  A B C D 
a. 4 1 2 3  
b. 4 1 3 2  
c. 1 4 2 3  
d. 1 4 3 2 
e. tpil njhpatpy;iy  

 
60. Dilute or conc HNO3 does not attack aluminium metal, as it renders aluminium 

passive due to  
a. Oxide film formation    b. Oxygen film formation  
c. Hydride film formation    d. Innert effect  
e. Answer not known 
ePh;j;j kw;Wk; mlh;iel;hpf; mkpyk; mYkpdpa cNyhfj;Jld; tpidGhpahJ. ,jd; 
fhuzk;  
a. Mf;irL glyk; cUthjy;  b. Mf;rp[d; glyk; cUthjy;  
c. i`l;iuL glyk; cUthjy;  d. ke;jj;jd;ik  
e. tpil njhpatpy;iy 

 
61. SiO2 + CaO → CaSiO3 This type of reaction is  

a. Element + Element → Compound  
b. Compound + Element → Compound  
c. Compound + Compound → Compound  
d. Element + Element → compound  
e. Answer not known 
SiO2 + CaO → CaSiO3 vd;w tpidapd; tif  
a. jdpkk; + jdpkk; → Nrh;kk;  
b. Nrh;kk; + jdpkk; → Nrh;kk; 
c. Nrh;kk; + Nrh;kk; → Nrh;kk;  
d. jdpkk; + jdpkk; → Nrh;kk;  
e. tpil njhpatpy;iy 
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62. Match the following:  
 List I     List II  

A. Stomach acid    1. 5.6  
B. Fresh milk    2. 6 – 8 
C. Human Saliva    3. 1 
D. Coffee    4. 5  
 A B C D 
a. 3 4 2 1  
b. 3 4 1 2  
c. 4 3 2 1  
d. 4 3 1 2   
e. Answer not known 
nghUj;Jf: 
gl;bay; I     gl;bay; II 
A. tapw;wpy; cs;s mkpyk;  1. 5.6  
B. J}aghy;    2. 6 – 8 
C. kdpj ckpo;ePh;   3. 1 
D. fh/gp    4. 5 
 A B C D 
a. 3 4 2 1  
b. 3 4 1 2  
c. 4 3 2 1  
d. 4 3 1 2  
e. tpil njhpatpy;iy 

 
63. Match the following: 

 Hydrocarbons   Molecular Formula  
A. Alkanes   1. CnH2n 
B. Alkenes   2. CnH2n-2 
C. Alkynes   3. CnH2n+2 
 A B C  
a. 2 3 1  
b. 2 1 3 
c. 3 2 1 
d. 3 1 2 
e. Answer not known  
nghUj;Jf:  
A. my;Nfd;   1. CnH2n 
B. my;fPd;   2. CnH2n-2 
C. my;ifd;    3. CnH2n+2 
 A B C  
a. 2 3 1  
b. 2 1 3 
c. 3 2 1 
d. 3 1 2 
e. tpil njhpatpy;iy  
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64. Roasting is carried out to 
1. Convert sulphide to oxide and sulphate   
2. Remove water of hydration  
3. Melt the ore    
4. Remove arsenic and sulphur impurities  
a. 1, 2 and 3 are correct   b. 1 and 4 are correct  
c. 1, 2 and 4 are correct   d. 2, 3 and 4 are correct  
e. Answer not known 

 tWj;jy; epfo;j;jg;gLtjw;fhd fhuzk;  
 1. ry;igL jhJit> Mf;i]lhfTk;> ry;Ngl;lhfTk; khw;w  
 2. gbf ePiu ntspNaw;w  
 3. jhJit cUf;f 
 4. mh;rdpf; kw;Wk; ry;gh;khRf;fis ePf;f  
 a. 1> 2 kw;Wk; 3 Mfpad rhpahdit  
 b. 1 kw;Wk; 4 Mfpad rhpahdit  
 c. 1> 2 kw;Wk; 4 Mfpad rhpahdit  
 d. 2> 3 kw;Wk; 4 Mfpad rhpahdit  

e. tpil njhpatpy;iy 

 
65. Match the following 

     Group                          Family 
A. 3 to 12                    1. Alkaline earth metals 
B. One                        2. Alkali metals 
C. Two                        3. Transition metals 
D. Fifteen                    4. Chalcogen 
E. Sixteen                    5. Nitrogen 

A B C D E 
a.  3 2 1 5 4     
b.  3 5 1 4 2  
c.  2 4 3 5 1 
d.  3 4 5 1 2  
e. Answer not known 
nghUj;Jf:  
FO    njhFjp  
A. 3 Kjy; 12  1. fhu kz; cNyhfq;fs;  
B. xd;W    2. fhu cNyhfq;fs;  
C. ,uz;L    3. ,ilepiy cNyhfq;fs;  
D. gjpide;J   4. rhy;Nfh[d;  
E. gjpdhW    5. iel;u[d;  

A B C D E 
a.  3 2 1 5 4     
b.  3 5 1 4 2  
c.  2 4 3 5 1 
d.  3 4 5 1 2 
e. tpil njhpatpy;iy  
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66. What is amalgam? 
a. More than two metals alloyed together 
b. Metals mixed with non - metals  
c. Non- metal alloyed with mercury  
d. Metal alloyed with mercury  
e. Answer not known 
,urf;fyit vd;why; vd;d?  
a. ,uz;Lf;Fk; Nkw;gl;l cNyhfq;fspd; fyit  
b. mNyhfq;fs; cNyhfq;fSld; fyf;fg;gl;l fyit  
c. mNyhfq;fSld; ghjurk; fye;j fyit  
d. cNyhfq;fSld; ghjurk; fye;j cNyhff;fyit  
e. tpil njhpatpy;iy 

 
67. Which of the following statements is / are correct ? 

I. Except group 18, all the elements present in each group have the same 
valency. 

II. The valency of all alkali metals is ‘1’  
a. I only   b. II only    c.  Both I and II    
d. Neither I and II   e. Answer not known 
gpd;tUk; $w;Wfspy; vJ / vit rhpahdJ / it?  
I. 18tJ njhFjpiaj; jtpu> kw;w njhFjpfspy; cs;s jdpkq;fs; xj;j 

,izjpwidg; ngw;wpUf;Fk;  
II. fhu cNyhfj; jdpkq;fspd; ,izjpwd; ‘1’ MFk;.  

    a. I kl;Lk;    b. II kl;Lk;      c. I kw;Wk; II    
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

  
68. Consider the following  

Assertion (A) : Atomic radius decreases along the period from left to right in 
periodic table  
Reason (R) : The number of protons increases along the period from left to right 
a. (A) alone is correct (R) is incorrect 
b. Both (A) and (R) correct and (R) is the correct explanation of (A) 
c. Both (A)and (R) are incorrect   
d. Both (A)and (R) are correct but (R) is not the correct explanation of (A)   
e. Answer not known 
gpd;tUtdtw;iw Ma;f.  
$w;W (A) : Mth;j;jd ml;ltizf; njhlhpy; ,lJ Gwj;jpypUe;J tyJ Gwkhf 
nry;ifapy; mZ Muk; FiwfpwJ.  
fhuzk; (R): njhlhpy; ,lJ Gwj;jpypUe;J tyJ Gwkhf nry;ifapy; GNuhl;lhdpd; 
vz;zpf;if mjpfhpj;J nry;Yk;  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) (A) tpw;F rhpahd tpsf;fkhFk;.  
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A) tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 
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69. Identify the correct statement/s from the following  
I. The amount of energy released when an isolated gaseous atom gains an 

electron to form its anion is called ionisation energy 
II. The minimum energy required to remove an electron from an isolated 

gaseous atom in its graund state to form a cation is called electron affinity 
a. I only   b. II only    c. Both I and II  
d. Neither I nor II   e. Answer not known 
gpd;tUtdw;Ws; rhpahd $w;iw / fisf; fz;lwpf.  
I. xU jdpj;j eLepiy cila thAepiy mZ xd;wpd; ,izjpwd; $l;by;> 

xU vyf;l;uhid Nrh;j;J> mjd; vjph; kpd; RikAila madpia cUthf;Fk; 
NghJ ntspg;gLk; Mw;wy; madpahf;Fk; Mw;wy; vdg;gLk;.  

II. mb Mw;wy; epiyapy; cs;s eLepiyj; jd;ikAila jdpj;j thAepiy mZ 
xd;wpd; ,izjpwd; $l;bypUe;J ,yFthfg; gpizf;fg;gl;Ls;s xU 
vyf;l;uhid ePf;fp Neh;kpd; madpahf khw;wj; Njitg;gLk; Fiwe;jgl;r Mw;wy;> 
vyf;l;uhd; ehl;lk; vdg;gLk;;  

a. I kl;Lk;    b. II kl;Lk;    c. I kw;Wk; II    
d. Nkw;fz;l vJTkpy;iy  e. tpil njhpatpy;iy 

 
70. Consider the following : 

Assertion (A) : On moving down the group in periodic table, the electronegativity 
of the element decreases generally  
Reason (R) : The atomic size increases on moving down the group 
a. (A) alone is correct (R) is incorrect 
b. Both (A) and (R) are correct and (R) is the correct explanation of (A)  
c. (A) is incorrect (R) is correct 
d. Both (A) and (R) are correct but (R) is not the correct explanation of (A).  
e. Answer not known 
gpd;tUtdtw;iw Ma;f.  
$w;W (A) : jdpk thpir ml;ltizapd; njhFjpapy; NkypUe;J fPohf ,wq;Fifapy; 
nghJthf vyf;;l;uhd; fth;jd;ik FiwfpwJ.  
fhuzk; (R): njhFjpapy; NkypUe;J fPohf ,wq;Fifapy; mZf;fspd; msT 
mjpfkhfpwJ.  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) (A) tpw;F rhpahd tpsf;fkhFk;.  
c. (A) jtW (R) kl;Lk; rhp  
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A) tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 

 
71. On moving left to right along the period in the periodic table, the valency, 

a. Increases       b. Decreases  
c. Remains the same   d. First increases and then decreases  
e. Answer not known 
Mth;j;jd ml;ltizj; njhlhpy; ,lg;Gwj;jpypUe;J tyJ Gwkhfr; nry;Yk;NghJ 
,izjpwd;  
a. mjpfhpf;fpwJ   b. FiwfpwJ  
c. khwhky; ,Uf;fpwJ  d. Kjypy; mjpfhpj;J gpd;dh; FiwfpwJ 
e. tpil njhpatpy;iy 
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72. Ionisation can occur by,  
a.  Heat (or) Radiation  b. Chemical reactions  
c. Electrical Discharge  d. All the above  
e. Answer not known 
madpahjy; vd;gJ ______ %yk; eilngWk;  
a. ntg;gk; my;yJ fjph;tPr;R  b. Ntjptpidfs; 
c. kpd;dpwf;fk;    d. Nkw;fz;l midj;Jk;  
e. tpil njhpatpy;iy 

 
73. Which of the following statements is / are correct ? 

I. Acid turns red litmus paper into blue 
II. In basic medium, phenolphthalein is pink 
III. In acid medium, methyl orange is yellow. 
a. I only   b. II only    c. All the above  
d. None of the above  e. Answer not known 
gpd;tUk; $w;Wfspy; vJ / vit rhpahdJ / it? 
I. mkpyk; rptg;G ypl;k]; jhis ePykhf khw;Wk;  
II. fhuj;jpy; gpdhg;jyPd; ,sQ;rptg;G epwj;ij cUthf;Fk;. 
III. mkpyj;jpy; nkj;jpy; MuQ;R kQ;rs; epwj;ij cUthf;Fk;  
a. I kl;Lk;   b. II kl;Lk;    c. Nkw;$wpa midj;Jk;;  
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 

 
74. Match the following  

 Bases     Uses  
A. NaOH           1. Stomach disorder medicine 
B. Ca(OH)2            2. Remove grease stains 
C. Mg(OH)2          3. White washing 
D. NH4OH         4. Soap manufacturing 
          A B C D  
a.  1 2 3 4    
b.  4 3 1 2  
c. 1 4 2 3  
d.  4 3 2 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
 fhuq;fs;   gad;fs;  
A. NaOH    1. tapw;Wf; NfhshW kUe;J  
B. Ca(OH)2    2. vz;nza; fiwfis ePf;Fjy;  
C. Mg(OH)2    3. Rz;zhk;G G+Rjy;  
D. NH4OH    4. Nrhg;G jahhpj;jy;  
 A B C D  
a.  1 2 3 4    
b.  4 3 1 2  
c. 1 4 2 3  
d.  4 3 2 1 
e. tpil njhpatpy;iy 
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75. Match the following  
        Solute                           Solubility in 100g water 

A. Sodium Chloride         1. 48 
B.  Calcium Carbonate       2. 36 
C.  Ammonia                      3. 91 
D. Glucose                           4.  0.0013 

A B C D 
a.  2 4 1 3     
b.  1 3 2 4 
c.  2 4 3 1     
d. 1 2 3 4 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
fiunghUs;     100fp ePhpy; fiujpwd;  
A. Nrhbak; FNshiuL   1. 48  
B. fhy;rpak; fhh;gNdl;   2. 36 
C. mk;Nkhdpah    3. 91 
D. FSf;Nfh];   4. 0.0013 

A B C d 
a.  2 4 1 3     
b.  1 3 2 4 
c.  2 4 3 1     
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
76. A man ate 100 grapes in 5 days.  Each day, he ate 6 more grapes than those he ate 

on the earlier day. How many grapes did he eat on the first day.  
a. 8  b. 12  c. 76  d. 54  e. Answer not known 
xUth; xt;nthU ehSk; Ke;ija ehs; rhg;gpl;l jpuhl;irfspd; vz;zpf;ifiatpl 6 
jpuhl;irfs; $Ljyhf rhg;gpLfpwhh;. 5 ehl;fspy; 100 jpuhl;irfs; rhg;gpl;lhy; Kjy; 
ehs; mth; rhg;gpl;l jpuhl;irfspd; vz;zpf;if vd;d?  
a. 8  b. 12  c. 76  d. 54  e. tpil njhpatpy;iy 

 
77. Find the sum of the series : 

1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........ + (1 +2+3+4+...... + 20)  
a. 1470  b. 1540   c. 1570   
d. 1370   e. Answer not known 
njhlhpd; $Ljy; fhz;. 
1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........ + (1 +2+3+4+...... + 20)  
a. 1470  b. 1540   c. 1570   
d. 1370   e. tpil njhpatpy;iy 

 
78. Sixty-Five percent of a number is 21 less than four fifths of that number. What is the 

number? 
a. 140  b. 150  c. 135    d. 120  e. Answer not known 

Xh; vz;zpd; 
4

5
d; gq;fpw;Fk; mNj vz;zpd; 65%-f;Fk; cs;s tpj;jpahrk; 21 vdpy; 

me;j vz; vd;d? 
a. 140  b. 150  c. 135    d. 120  e. tpil njhpatpy;iy 
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79. Some sweets were to be distributed equally among 540 students of a school. But due 
to absence of 120 students, each child got 4 more sweets. How many sweets were to 
be distributed to each student originally?  
a. 12  b. 14  c. 16  d. 18  e. Answer not known 
xU  gs;spapy; cs;s 540 khzth;fSf;F ,dpg;Gfs; rkkhf gfph;e;jspf;fg;gl 
Ntz;Lk;. Mdhy; 120 khzth;fs; tpLg;G vLj;jjhy;> jw;Nghija vz;zpf;ifapy; 
 xt;nthU khztUf;Fk; 4 ,dpg;Gfs; mjpfkhf fpilj;jd vdpy; cz;ikahf 
 xt;nthU khztDf;Fk; fpilf;ff; $ba ,dpg;Gfs; vj;jid? 
a. 12  b. 14  c. 16  d. 18  e. tpilnjhpatpy;iy 

 
80. 2, 4, 12, 48, 240, ……... 

a. 960  b. 1440 c. 1080  d. 1920 e. Answer not known 
2, 4, 12, 48, 240, ……... 
a. 960  b. 1440 c. 1080  d. 1920 e. tpil njhpatpy;iy  

 
81. In ointments, antacids and soaps the unit ‘w/w’ is used to denote , 

a. Mass percentage  b. Volume percentage  c. Mole fraction  
d. Molality    e. Answer not known 
mkpyePf;fpfs;> fspk;Gfs;> Nrhg;Gfs;  Nghd;wtw;wpy; ‘w/w’ vd;W Fwpg;gplg;gLk; myF 
vijf; Fwpf;fpwJ?  
a. epiw rjtPjk;   b. fd msT rjtPjk;   c. Nkhy; gpd;dk;   
d. Nkhyhypl;b   e. tpil njhpatpy;iy 

 
82. Rusting of iron is example of, 

           a. Combustion reaction   b. Double displacement reaction   
c.  Single displacement reaction  d. Decomposition reaction 
e. Answer not known 
,Uk;G JUg;gpbj;jy;> 
a. vhpjy; tpid    b. ,ul;il ,lg;ngah;r;rp tpid  
c. xw;iw ,lg;ngah;r;rp tpid   d. rpijT tpid  
e. tpil njhpatpy;iy 

 
83. Identify the correct statements. 

I. Ethanol is blended with petrol to increase octane levels and improve emission 
quality  

II. Bio diesel is a renewable fuel manufactured from vegetable oils 
III. Specific gravity of diesel is higher than petrol 
a.  I and II only  b. II only   c.  I, II and III   
d. None of the above e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf:  
I. vj;jdhy; ngl;NuhYld; fye;J mjd; Mf;Nld; vz;iz mjpfg;gLj;jTk; 

ntspapLjpwid Nkk;gLj;jTk; nra;fpwJ.  
II. gNahBry; jhtu vz;nzapypUe;J jahhpf;fg;gLk; xU GJg;gpf;fj;jf;f 

vhpnghUs; MFk;.  
III. Brypd; xg;glh;j;jpapd; msT ngl;Nuhiy tpl mjpfk;  
a. I kw;Wk; II kl;;Lk;  b. II kl;Lk;    c. I, II kw;Wk; III   
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
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84. Consider the following 
Assertion (A) : Commercial applications of LNG has been limited  
Reason (R) :   LNG’s cost of production is high and it must be stored in cryogenic 
tanks 
a. (A) alone is true (R) is false 
b. Both (A) and (R) are true and (R) is the correct explanation of (A) 
c. Both (A) and (R) are false 
d. Both (A) and (R) are true but (R) is not the correct explalnation of (A) 
e. Answer not known 
gpd;tUtdtw;iw Ma;f  
$w;W (A): jput epiy ,aw;if thA> Fiwe;j msNt tzpfg; gad;ghl;by; cs;sJ.  
fhuzk; (R) : ,jd; jahhpg;G nryT mjpfk; NkYk; ,ij Nrkpg;gjw;F fUq;Fsph;tpay; 
njhl;b Njitg;gLfpwJ.  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R) (A) tpw;F rhpahd tpsf;fkhFk;.  
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R), (A) tpw;F rhpahd tpsf;fky;y  
e. tpil njhpatpy;iy 

 
85. Idenfity the correct statements  

I. The chemical name of gypsum is calcium sulphate dihydrate 
II. Epsom salt is used in medicine for skin problems 
III. Plaster of Paris is prepared by heating gypsum where it gets partially 

dehydrated  
a. II and III only  b. III only    c. I and II only  
d. All the above   e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf.  
I. [pg;rkpd; Ntjpg;ngah; fhy;rpak; ry;Ngl; il`l;Nul; MFk;.  
II. vg;rk; cg;G> Njhy; Neha;fisj; jPh;f;Fk; fspk;Gfspy; gad;gLj;jg;gLfpwJ.  
III. [pg;rj;ij ntg;gg;gLj;Jk; NghJ gFjpasT ePh;r;rj;J> ntspNawp ghhp]; rhe;J 

jahhpf;fg;gLfpwJ.  
a. II kw;Wk; III kl;Lk;  b. III kl;Lk;    c. I kw;Wk; II kl;Lk;   
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
86. Identify the correct statements  

I. Diamond is an example of crystalline form of carbon 
II. Fullerene is an amorphous allotrope of carbon 
III. Graphene is the thinnest material known to man. 
a. I and II only  b. I and III only    c. II only         
d. All the above  e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf:  
I. ituk;> gbf tbtKila fhh;gdpd; vLj;Jf;fhl;;L MFk;.  
II. /Gy;yhPd; gbf tbtw;w GwNtw;Wik tbtk; MFk;.  
III. fpuh/gPd;jhd; ,Jtiu cyfpy; fz;Lgpbf;fg;gl;ljpNyNa jbkd; Fiwthd 

nghUshFk;.  
a. I kw;Wk; II kl;Lk;  b. I kw;Wk; III kl;Lk;   c. II kl;Lk;    
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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87. Identify the rightly matched pairs, 
I. Hard soap        - Sodium salts 
II. Soft soap         - Potassium salts 
III. Detergents   - Magnesium salts 
a. I and II only  b. III only    c. I, II and III   
d. None of the above  e. Answer not known 
rhpahf nghUj;jg;gl;Ls;s ,izfisf; fz;lwpf.  
I. fbd Nrhg;G  - Nrhbak; cg;G  
II. nkd; Nrhg;G  - nghl;lhrpak; cg;G  
III. blh;n[z;l;  - nkf;dPrpak; cg;G  
a. I kw;Wk; II kl;Lk;  b. III kl;Lk;    c. I, II kw;Wk; III   
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 

 
88. Rule that states ‘ Greater the charge of the cation, greater will be the covalent 

character’ is , 
a. Kossel    - Lewis law b. Octet rule   c. Fajan’s rule   
d. Both (a) and (b)  e. Answer not known 
‘Neh;kpd; madpapd; kpd;Rik mjpfhpf;f mjpfhpf;f rfg;gpizg;Gj; jd;ik mjphpf;Fk; 
vd;Dk; tpjp  
a. Nfhry; - Y}ap]; tpjp  b. vz;k tpjp   c. /g[hdpd; tpjp    
d. a kw;Wk; b   e. tpil njhpatpy;iy 

 
89. Find the incorrect statement 

1. The first land plant appeared around 460 million years ago 
2. They were mosses and liverworts  
3. The Amazon Rain forest in North America produces 30% of the world's oxygen 
supply 
a. 1 only  b. 1, 2 and 3   c. 2 only   
d. 1 and 3  e. Answer not known 
jtwhd thf;fpaj;ij fz;Lgpbf;fTk;  
1. Kjy; epytho; jhtuk; Njhuhakhf 460 kpy;ypad; Mz;LfSf;F Kd;G Njhd;wpd.  
2. mit ghrp kw;Wk; ypth;Nthh;l;];  
3. tl mnkhpf;fhtpy; cs;s mNkrhd; kiof; fhLfs; cyfpw;fhd Mf;rp[d; 

Njitapy; 30 rjtPjj;ijf; nfhLf;fpwJ  
a. 1 kl;Lk;  b. 1, 2 kw;Wk; 3  c. 2 kl;Lk;   
d. 1 kw;Wk; 3  e. tpil njhpatpy;iy 

 
90. Consider the following statement about cross pollination  

1. Pollen grains are transferred from one flower to the stigma of another flower of 
the same kind of different plant. 

2. Plants need to produce pollen grains in larger quantities to increase the chance 
of pollination.  

3. Cross pollination does introduce  variations in characteristics of new plants  
4. 65Example – apples, plums, strawberries, pumpkins  
a. 1, 2, 3, 4 correct    b. 1, 4 incorrect, 2, 3 correct  
c. 1, 2, 3 correct 4 incorrect   d. 1, 2, 3, 4 incorrect  
e. Answer not known 
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may; kfue;jNrh;f;if gw;wpa gpd;tUk; thf;fpaq;fis ftdp 
1. xU jhtuj;jpd; kfue;jj;J}s;fs; mNj ,dj;ijr; rhh;e;j kw;nwhU jhtuj;jpd; 

#yfKbia miltJ may; kfue;jNrh;f;if  
2. ,J elf;f mjpf mstpy; kfue;jj;J}s;fs; cw;gj;jp nra;ag;gLfpd;wd.  
3. ,jdhy; cUthFk; Gjpa jhtuq;fspy; Gjpa gz;Gfs; fhzg;gLk;. 
4. vLj;Jf;fhl;L – Mg;gps;> /gpsk;];> ];l;uh/ngh;hp kw;Wk; G+rzp  
rhpahdij fz;Lgpbf;fTk;  
a. 1> 2> 3> 4 rhp   b. 1> 4 rhpay;y 2> 3 rhp  c. 1> 2> 3 rhp 4 rhpay;y   
d. 1> 2> 3> 4 rhpay;y  e. tpil njhpatpy;iy 

 
91. Match the following  

Adventitious Root    Plants  
A. Prop roots    1. Sugar cane  
B. Stilt roots     2. Banyan tree 
C. Climbing roots   3. Black pepper  
D. Breathing roots   4. Cuscuta  
E. Sucking roots    5. Avicenia  
 A B C D E 
a. 2 3 1 5 4  
b. 2 1 3 5 4  
c. 2 1 4 5 3  
d. 2 4 1 5 3 
e. Answer not known  
nghUj;Jf:  
 khw;wpl Nth;fs;   jhtuq;fs;  
A. J}z; Nth;fs;    1. fUk;G  
B. Kl;L Nth;fs;    2. My kuk;  
C. gw;W Nth;fs;    3. kpsF  
D. Rthr Nth;fs;    4. f];Fl;lh 
E. cwpQ;R Nth;fs;    5. mtprpdpah  
 A B C D E 
a. 2 3 1 5 4  
b. 2 1 3 5 4  
c. 2 1 4 5 3  
d. 2 4 1 5 3 
e. tpil njhpatpy;iy  

 
92. Find the correct statements about virus  

1. Virus shows both living and non living characters.  
2. They reproduce inside the hast cells  
3. They can be crystallized and stored for a very long time.  
4. The metabolic machinery, cytoplasm is absent.  
a. 1, 2, 3, 4 correct    b. 1, 2, correct 3, 4 incorrect  
c. 1, 2, 3 correct 4 incorrect   d. 1, 2, 4 correct 3 incorrect  
e. Answer not known 
itu]; gw;wpa rhpahd thf;fpaq;fis fz;Lgpb.  
1. itu];fs; capUs;s kw;Wk; capuw;w vd;w ,uz;L gz;GfisAk; ngw;Ws;sd.  
2. itu];fs; xk;Gaphpapd; nry;fspDs;Ns ,dg;ngUf;fkilfpwJ. 
3. ,itfis gbtbtpy; kpf ePz;l fhyj;jpw;F itj;jpUf;f KbAk;.  
4. tsh;rpijkhw;w epfo;Tfs;> irl;Nlhgpshrk; fhzg;gLtjpy;iy  
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a. 1, 2, 3, 4 rhp   b. 1, 2 rhp 3, 4 rhpay;y   c. 1, 2, 3 rhp 4 rhpay;y 
d. 1, 2, 4 rhp 3 rhpay;y  e. tpil njhpatpy;iy 

 
93. Match the following:  

 List – I    List – II  
A. Diplococcus   1. Rod shape  
B. Streptococcus   2. Chain form  
C. Staphylococcus   3. Pair form  
D. Bacilli    4. Bunch form  
 A B C D 
a. 4 2 1 3  
b. 3 2 4 1 
c. 3 4 2 1  
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf: 
 gFjp – I    gFjp – II 
A. bg;Nshfhf;f];  1. Nfhy; tbtk;  
B. ];l;nug;Nlhfhf;f]; 2. rq;fpyp tbtk;  
C. ];iligNyhfhf;f]; 3. ,iz tbtk;  
D. Ngrpy;iy    4. nfhj;J tbtk;  
 A B C D 
a. 4 2 1 3  
b. 3 2 4 1 
c. 3 4 2 1  
d. 2 3 4 1 
e. tpil njhpatpy;iy 

 
94. Match the following: 

 Types of Protozoans   Example  
A. Ciliates     1. Euglena  
B. Flagellates    2. Amoeba  
C. Pseudopods    3. Plasmodium  
D. Sporozoans    4. Paramecium  
 A B C D 
a. 4 1 2 3  
b. 4 1 3 2  
c. 1 2 3 4 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf: 
GNuhl;NlhNrhthf;fspd; tiffs; vLj;Jf;fhl;L  
A. rpypNahl;lh   1. A+f;spdh 
B. gpshn[y;Nyl;lh   2. mkPgh  
C. #NlhNghbah   3. gpsh];Nkhbak;  
D. ];NghNuhNrhth   4. ghukPrpak;  
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 A B C D 
a. 4 1 2 3  
b. 4 1 3 2  
c. 1 2 3 4 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
95. Find the correct statements  

1. Microbes are used to protect the crops from pests. 
2. Bacillus thuringiensis helps to control insects.  
3. Tri choderma helps to protect roots and control plant pathogens. 
4. Baculo viruses attack insects and other arthropods.  
a. 1, 2, 3, 4 correct    b. 1, 2, 3, 4 incorrect  
c. 1, 2 correct 3, 4 incorrect   d 1, 2, 3 correct 4 incorrect  
e. Answer not known 
rhpahd thf;fpaq;fis fz;Lgpb.  
1. gaph;fSf;F jPq;FaphpfsplkpUe;J ghJfhg;gspg;gjpy; Ez;Zaphpfs; cjtpfpd;wd.  
2. Ngrpy;y]; JHpd;rpad;]p]; G+r;rpfisf; fl;Lg;gLj;J cjTfpwJ 
3. biuf;Nfhnlh;kh Nth;fSf;Fg; ghJfhg;gspj;J jhtuq;fspy; Neha;f;fpUkpfisf; 

fl;Lg;gLj;JfpwJ.  
4. ghf;FNyh itu];fs;> G+r;rpfs; kw;w fZf;fhypfisj; jhf;Ffpd;wd.  
a. 1, 2, 3, 4 rhp   b. 1, 2, 3, 4 rhpay;y  
c. 1, 2 rhp 3, 4 rhpay;y   d. 1, 2, 3 rhp 4 rhpay;y  
e. tpil njhpatpy;iy 

 
96. Bacteria loosen the supporting fibres of the flax plants stem in water by acting on 

the stem tissues. This process is known as _________. 
a. Tanning   b. Retting    c. Ginning    
d. Bleaching   e. Answer not known 
ePhpDs; cs;s Mspj;jhtuq;fspd; jz;Lg; gFjp jpRf;fspd; kPJ ghf;Bhpaq;fs; 
nray;gl;L> mtw;wpd; typikahd MjuT ehh;fisj; jsh;j;Jfpd;wd. ,k; Kiw 
__________ vd mwpaag;gLfpwJ.  
a. Nldpq;  b. nul;bq;   c. [pd;dpq;   
d. gpsPr;rpq;   e. tpil njhpatpy;iy 

 
97. Binomial name was first introduced by Gaspard Bauhin in the year of ________. 

a. 1603  b. 1613   c. 1623   
d. 1633  e. Answer not known 
,Unrhw; ngahpLjy; Kiwia Kjd;Kjypy; fh];gh;L ghfpd; vd;gth; ______ Mk; 
Mz;L mwpKfg;gLj;jpdhh;. 
a. 1603  b. 1613   c. 1623   
d. 1633  e. tpil njhpatpy;iy 

 
98. Match the following:  

 Algal     Class  
A. Bluegreen algae   1. Chlorophyceae  
B. Green algae   2. Cyanophyclae 
C. Brown algae   3. Phaeophyclae 
D. Red algae     4. Rhodophyclae 
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 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf:  
 ghrp     tFg;G  
A. ePyg;gr;irg; ghrpfs;  1. FNshNuhigrpNa 
B. gr;irg; ghrpfs;   2. raNdhigrpNa 
C. gOg;Gg; ghrpfs;   3. NgNahigrpNa  
D. rptg;G ghrpfs;   4. NuhNlhigrpNa  
 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 2 1 3 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 

 
99. ________ is obtained from brown algae like Laminaria (Kelp). 

a. Copper  b. Zinc  c. Iodine  d. Iron   e. Answer not known 
NykpNdhpah (nfy;g;) Nghd;w gOg;Gg; ghrpfspypUe;J _________ ngwg;gLfpwJ.  
a. fhg;gh; b. [pq;f; c. mNahbd; d. ,Uk;G   e. tpil njhpatpy;iy 

 
100. Match the following:  

Class of Pteridophytes   Example  
A. Psilopsida    1. Nephrolepsis  
B. Lycopsida    2. Psilotum  
C. Sphenopsida    3. Lycopodium  
D. Pteropsida    4. Equisetum  
 A B C D 
a. 2 3 1 4 
b. 2 3 4 1  
c. 3 2 1 4  
d. 3 2 4 1 
e. Answer not known  
nghUj;Jf: 
nlhpNlh/igl;Lfspd; tFg;G  vLj;Jf;fhl;L 
A. iryhg;rplh   1. ne/Nuhnyg;gp]; 
B. iyf;fhg;rplh   2. irNyhl;lk;  

C. ];gPdhg;rplh   3. iyf;NfhNghbak;  
D. Buhg;rplh    4. <FrPl;lk;  
 A B C D 
a. 2 3 1 4 
b. 2 3 4 1  
c. 3 2 1 4  
d. 3 2 4 1 
e. tpil njhpatpy;iy  
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101. Match the following:  
Plants      Family  
A. Aegle marmelos    1. Liliaceae 
B. Solanum trilobatum   2. Euphorbiaceae  
C. Phyllanthus amarus   3. Solanaceae  
D. Aloe vera    4. Rutaceae  
 A B C D  
a. 2 3 4 1 
b. 4 3 2 1  
c. 2 3 1 4 
d. 4 3 1 2  
e. Answer not known 
nghUj;Jf: 
 jhtuq;fs;    FLk;gk;  
A. Vfpy; khh;kpNyh];  1. ypy;ypNarp 
B. nrhyhdk; biunyhNgl;lk; 2. A+/Nghh;gpNarp  
C. /gpy;yhe;j]; mkhu];  3. nrhyNdrp 
D. mNyh ntuh   4. &l;Nlrp  
 A B C D  
a. 2 3 4 1 
b. 4 3 2 1  
c. 2 3 1 4 
d. 4 3 1 2 
e. tpil njhpatpy;iy  

 
102. Find correct statements about Meristematic tissues.  

1. They are living cells 
2. They undergo mitotic cell division  
3. They do not store food materials  
a. 1 incorrect 2, 3 correct   b. 1, 2 correct 3 incorrect  
c. 1, 2, 3 incorrect    d. 1, 2, 3 correct 
e. Answer not known  
Mf;Fj;jpRf;fspd; rpwg;G gz;Gfspy; rhpahd thf;fpaj;ij fz;Lgpb.  
1. caph; cs;s nry;fshy; Mdit  
2. ikl;lh]p]; nry;gFg;Gf;F cl;glf;$bait  
f3. ,it czit Nrkpg;gjpy;iy  
a. 1 rhpay;y 2> 3 rhp  b. 1> 2 rhp 3 rhpay;y   c. 1> 2> 3 rhpay;y   
d. 1> 2, 3 rhp   e. tpil njhpatpy;iy 

 
103. Consider the following statements  

Assertion (A) : Mitosis is also called as "Equational division". 
Reason (R) : During Mitosis each daughter cell has the same amount of DNA same 
number of chromosomes and genes as the parent cells.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct , and (R) is not the correct explanation to (A) 
c. (A) is True (R) is False  
d. (A) is False (R) is True  
e. Answer not known 
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gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;  
$w;W (A) : ikl;lhrp]; xU rkgFg;G vd;W miof;fg;gLfpwJ 
fhuzk; (R): ikl;lhrp]; gFg;gpy; cUthFk; xt;nthU Nra; nry;Yk;  
    xNu msTila DNA cl;fU> xNu vz;zpf;ifapyhd  
    [Pd; kw;Wk; FNuhNkhNrhk;fisf; nfhz;L jha; nry;fspy;  
    cs;sJ NghyNt mike;Js;sd.  
a. (A) kw;Wk; (R) rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R), (A) f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
104. Which is form a “bouquet stage” in Meiosis?  

a. Zygotene   b. Leptotene    c. Pachytene   
d. Diplotene   e. Answer not known 
kpahrp]; gFg;gpy; vJ G+q;nfhj;J Nghd;w mikg;G epiyia cUthf;FfpwJ 
a. irf;NfhBd; b. nyg;NlhBd;  c. Ngf;fpBd;  
d. bg;NshBd;  e. tpil njhpatpy;iy 

 
105. Find the correct statement.  

1. The insect Vespa orientalis have similar capabilities to trap solar energy. 
2. It contains the yellow light sensitive Pigment called Xanthopterin on its 

abdomen. 
3. This work as a light harvesting molecule transforming light energy into electrical 

energy. 
a. 1, 2, 3 correct  b. 1, 2, 3 incorrect  c. 1, 3 correct 2 incorrect 
d. 2 correct 1, 3 incorrect e. Answer not known 
rhpahd thf;fpaq;fis fz;Lgpb. 
1. nt];gh Xhpaz;lhyp]; vd;w vWk;G #hpa xspia <u;f;f$ba jpwd; nfhz;lJ. 
2. ,jd; tapw;Wg;gFjpapy; rhe;Njhg;nlhpd; vd;w kQ;rs; Ez; xsp czu; epwkp 

fhzg;gLfpwJ. 
3. ,e;epwkp xsp mWtil %yf;$whf nray;gl;L xspMw;wiy kpd; Mw;wyhf 

khw;Wfpd;wd. 
a. 1> 2> 3 rhp   b. 1> 2> 3 jtW  c. 1> 3 rhp 2 jtW   
d. 2 rhp 1> 3 jtW  e. tpil njhpatpy;iy 

 
106. Match the following 

Vitamin      Deficiency Disorder 
 A. Retinol      1. Sterility 

B. Calciferol      2. Rickets 
C. Tocopherol     3. Xerophthalmia 
D. Derivative of Quinone    4. Blood clotting is prevented. 

  A B C D 
a. 3 2 4 1 
b. 1 2 4 3 
c. 1 2 3 4 
d. 3 2 1 4 
e. Answer not known 
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nghUj;Jf 
itl;lkpd;      FiwghL Neha;fs; 
A. nul;bdhy;      1. kyl;Lj;jd;ik 
B. fhy;rp/nguhy;     2. upf;nfl;]; 
C. NlhNfh/nguhy;     3. rPNuhg;jhy;kpah 
D. FapNdhdpypUe;J ngwg;gLk; Ntjpg;nghUs; 4. ,uj;jk; ciwjy; eilngwhJ 
       

  A B C D 
a. 3 2 4 1 
b. 1 2 4 3 
c. 1 2 3 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 

 
107. Find the Macro nutrients in following minerals. 

1. Calcium  2. Sodium  3. Potassium   
4. Iron   5. Iodine 
a. 1. 2, 3, 4, 5 correct   b. 1, 2 correct 3, 4, 5 incorrect 
c. 1, 2, 3 correct 4, 5 incorrect d. 1, 2, 3, 4 correct 5 incorrect 
e. Answer not known 
gpd;tUk; jhJf;fspy; ngUk; jdpkr;rj;Jf;fis fz;Lgpb 
1. fhy;rpak;  2. Nrhbak;  3. nghl;lhrpak; 
4. ,Uk;G  5. mNahbd; 
a. 1> 2> 3> 4> 5 rhp   b. 1> 2> rhp 3> 4> 5 jtW 
c. 1> 2> 3 rhp 4> 5 jtW  d. 1> 2> 3> 4 rhp 5 jtW 
e. tpil njhpatpy;iy 

 
108. An earthworm found in the phylum _______. 

a. Platyhelminthes  b. Arthropoda   c. Annelida   
d. Mollusca    e. Answer not known 
kz;GOthdJ ________ njhFjpapy; fhzg;gLfpwJ. 
a. gpshl;bn`y;kpd;jp]; b. Mh;j;NuhNghlh   c. md;dpyplh   
d. nkhy];fh   e. tpil njhpatpy;iy 

 
109. Aspects of scientific attitude are 

(i) Critical observation 
(ii) Intellectual honesty 
(iii) Impartial Thinking 
(iv) Reflective Thinking 
a. i and ii only  b. iii and iv only  c. ii, iii and iv only   
d. i, ii, iii and iv  e. Answer not known 
mwptpay; kdg;ghd;ikapd; ghpzhkq;fs; vd;git 
(i) $h;e;j cw;WNehf;fy; 
(ii) mwpthh;e;j Neh;ik 
(iii) ghFghlw;w rpe;jid 
(iv) gpujpgypf;Fk; rpe;jid 
a. i kw;Wk; ii kl;Lk;  b. iii kw;Wk; iv kl;Lk;  c. ii, iii kw;Wk; iv kl;Lk;  
d. i, ii, iii kw;Wk; iv  e. tpil njhpatpy;iy 
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110. Learning multiplication tables and English alphabets is an example of 
a. Concept learning  b. Rote learning   c. Inductive learning 
d. Heuristic learning e. Answer not known 
ngUf;fy; tha;g;ghL kw;Wk; Mq;fpy vOj;Jf;fs; fw;wYf;F cjhuzkhf miktJ 
a. fUj;J fw;wy;  b. nghUs; czuhky; fw;wy; c. tpjptU fw;wy; 
d. fz;lwp fw;wy;  e. tpil njupatpy;iy 
 

111. Which of the following best defines rote memorization? 
a. A learning process that involves repetition until something is  remembered 

verbatim.  
b. A method of writing something down in order to remember it more easily. 
c.  Repeatedly quizzing yourself.  
d. None of the above. 
e. Answer not known 
FUl;L kdg;ghlk; nra;tjpy; gpd;tUtdtw;Ws; vJ rpwe;jj? 
a. VjhtJ epidT tUk;tiu kPz;Lk; kPz;Lk; fw;wy; nray;Kiw  
b. vijahtJ vspjpy; epidtpy; nfhs;tjw;fhf mij vOJk; Kiw  
c. kPz;Lk; kPz;Lk; cq;fSf;Fs; tpdh vOg;Gk; Kiw  
d. Nkw;fz;l vJTk; ,;y;iy 
e. tpil njhpatpy;iy 

 
112. A teacher tries to teach a complex idea with the help of some. Pleasant stimulus and 

after repeated use of various situations, the students liked the subject. The theory 
underlying this method is 
a. Trial and error learning   b. Classical conditioning 
c. Perceptual learning   d. Operant conditioning 
e. Answer not known 
xU Mrphpah; rpy ,dpikahd J}z;Ljypd; cjtpAld; xU rpf;fyhd Nahridia 
fw;gpf;f Kaw;rpf;fpwhh;. kw;Wk; gy;NtW #o;epiyfis kPz;Lk; kPz;Lk; gad;gLj;jpa 
gpwF khzth;fs; fw;wy; Kiwia tpUk;Gfpwhh;fs;. ,e;j Kiwf;F mbg;gilahd 
Nfhl;ghL 
a. Kad;W jtwpf; fw;wy; Kiw  b. gFj;jwpe;J fw;wy; Kiw 
c. GyDzh;T fw;wy; Kiw   d. nray;Kiw fw;wy; Kiw 
e. tpil njhpatpy;iy 

 
113. Choose the correct order of studying scientific method 

1. Empirical Test 2. Hypothesis 3. Observation 4. Conclusion 
a. 3, 2, 1, 4   b. 2, 3, 1, 4   c. 1, 2, 3, 4  
d. 3, 1, 2, 4   e. Answer not known 
mwptpay; Kiwiag; gbf;Fk; rhpahd thpiria Njh;T nra;aTk; 
1. mDgt Nrhjid  2. fUJNfhs;  3. ftdpg;G  4. KbTiu   
a. 3, 2, 1, 4   b. 2, 3, 1, 4   c. 1, 2, 3, 4  
d. 3, 1, 2, 4   e. tpil njhpatpy;iy 

 
114. One of the six pillars of scientific temper is ____. 

a. Scientific Research b. Scientific Action  c. Scientific Movement 
d. Scientific Attitude e. Answer not known 
mwptpay; czh;tpd; MW J}z;fspy; xd;W 
a. mwptpay; Muha;r;rp  b. mwptpay; nray;ghL  c. mwptpay; ,af;fk;   
d. mwptpay; kdg;ghd;ik e. tpil njhpatpy;iy 
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115. Stepwise thinking with a purpose or goal in mind is defined as  
a. Concept formation b. Reasoning   c. Intelligence  
d. Creativity    e. Answer not known 
xU Nehf;fk; my;yJ ,yf;Fld; kdjpy; gbg;gbahfr; rpe;jpj;jiy tiuaWf;fg; 
gad;gLj;Jk; nrhy;  
a. fUj;J cUthf;fk; b. gFj;jwpjy;  c. Ez;zwpT 
d. gilg;ghw;wpy;  e. tpil njhpatpy;iy 
 

116. In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each 
successive row contains two additional seats then its front row. How many seats are 
there in the last row? 
a. 58 seats   b. 78 seats    c. 98 seats   
d. 108 seats    e. Answer not known 
xU rpdpkh muq;fpd; Kjy; thpirapy; 20 ,Uf;iffSk; nkhj;j 30 thpirfSk; 
cs;sd. mLj;jLj;j xt;nthU thpirapYk; mjw;F Ke;ija thpiria tpl ,uz;L 
,Uf;iffs; $Ljyhf cs;sd. filrp thpirapy; vj;jid ,Uf;iffs; ,Uf;Fk;?  
a. 58 thpirfs;   b. 78 thpirfs;   c. 98 thpirfs;  
d. 108 thpirfs;  e. tpil njhpatpy;iy   

 
117. How many terms of the series 1 + 5 + 9 + … must be taken so that their sum is 190? 

a. 7  b. 8  c. 9  d. 10  e. Answer not known 
1 + 5 + 9 + ….. vd;w njhlhpy; vj;jid cWg;Gfisf; $l;bdhy; $Ljy; 190 fpilf;Fk;. 
a. 7  b. 8  c. 9  d. 10  e.  tpil njhpatpy;iy 

 
118. The house of a street are numbered from 1 to 49. Senthil’s house is numbered such 

that the sum of numbers of the house prior to Senthil’s house is equal to the sum of 
numbers of the houses following Senthil’s house. Find Senthil’s  house number? 
a. 35  b. 25  c. 30  d. 20  e. Answer not known 
xU njUtpy; cs;s tPLfSf;F 1 Kjy; 49 tiu njhlh;r;rpahf 
fjtpyf;fk; toq;fg;gl;Ls;sJ. nre;jpypd; tPl;bw;F Kd;djhf cs;s tPLfspd; 
fjtpyf;fq;fspd; $l;Lj;njhifahdJ nre;jpypd; tPl;bw;Fg; gpd;jhf cs;s tPLfspd; 
fjtpyf;fq;fspd; $l;Lj; njhiff;Fr; rkk; vdpy; nre;jpypd; tPl;L fjtpyf;fj;ijf; 
fhz;f. 
a. 35  b. 25  c. 30  d. 20  e. tpil njhpatpy;iy 

 
119. Sum of digits of a two digit number is 9. Its digits are reversed when 27 is added to 

that number then the number is? 
a. 69 b. 36  c. 47  d. 63  e. Answer not known 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 9. me;j vz;Zld; 27-I $l;Lk; NghJ 
,yf;fq;fs; ,lk; khWfpd;wd vdpy; me;j vz; vJ? 
a. 69 b. 36  c. 47  d. 63  e. tpil njhpatpy;iy 

 

120. In an examination, a student scores 3 marks for every correct answer and loses one 
mark for every wrong answer. If he answers 80 questions in all and gets 160 marks 
find the number of questions he answered wrongly? 
a. 20  b. 40  c. 60   d. 10  e. Answer not known  
xU Njh;th; xt;nthU rhpahd tpilf;Fk; 3 kjpg;ngz; ngWfpwhh;. jtwhd 
tpilaspj;jhy; 1 kjpg;ngz; ,of;fpwhh;. 80 tpdhf;fSf;F tpilaspj;j Njh;th; 160 
kjpg;ngz; ngWfpwhh; vdpy; mth; jtwhf tpilaspj;j tpdhf;fspd; vz;zpf;if 
vd;d? 
a. 20  b. 40  c. 60   d. 10  e. tpil njhpatpy;iy 
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121. What are the characteristics of rote learning? 
i. Passive Process   ii. Analytic learning   
iii. Active learning   iv. Teacher – Centered 
a. (iv) and (ii) only  b. (i)  and (ii) only  c. (i), and (iv) only 
d. (iii) and (iv) only  e. Answer not known 
nghUs; czuhky; fw;wypd; gz;Gfs; ahit? 
i. nrayw;w fw;wy; Kiw  ii. gFg;gha;T fw;wy;   
iii. nraypy; fw;wy;   iv. Mrphpah; rhh;e;jJ    
a. (iv) kw;Wk; (ii) kl;Lk; b. (i)  kw;Wk; (ii) kl;Lk; c. (i) kw;Wk; (iv) kl;Lk; 
d. (iii) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 
 

122. Arrange the following four steps based on Wallas Creativity Theory 
1. Incubation  2. Illumination 3. Preparation 4. Verification 
a. 3, 1, 2, 4   b. 3, 2, 1, 4   c. 2, 3, 1, 4 
d. 2, 1, 4, 3   e. Answer not known 
thy]; vd;gthpd; Mf;fj;jpwd; Nfhl;ghl;bd;gb fPo;f;fhZk; ehd;F gbfis 
thpirg;gLj;Jf. 
1. cs;tsh;r;rp  2. cs;nshsp Njhd;Wjy;   
3. Maj;jk;   4. rhpghh;j;jy;    
a. 3, 1, 2, 4   b. 3, 2, 1, 4   c. 2, 3, 1, 4 
d. 2, 1, 4, 3   e. tpil njhpatpy;iy 

 
123. A laser beam is used for carrying out surgery because it 

a. is highly coherent beam  b. is highly directional beam 
c. is sharply focused  d. is highly monochromatic  
e. Answer not known 
mWit rpfpr;ir nra;a Nyrh; fw;iw gad;gLj;jg;gLfpwJ Vnddpy; mJ 
a. kpfTk; Xhpay; fw;iwahFk;. b. kpfTk; jpir fw;iw MFk;. 

c. $h;ikahf Ftpf;fg;gLtJ d. kpfTk; xw;iw epwKilaJ 
e. tpil njhpatpy;iy 

 

124. _____ is the ratio of Helium-Neon mixture in the He : Ne Laser. 
a. 1 : 5  b. 5 : 1  c. 1 : 10 d. 1 : 1  e. Answer not known 
He : Ne Nyrhpy;> `Pypak; kw;Wk; epahd; fyitapd; tpfpjk; ____ MFk;. 
a. 1 : 5  b. 5 : 1  c. 1 : 10 d. 1 : 1  e. tpil njhpatpy;iy 

 

125. What are the pillar of block chain technology? 
1. Transparency  2. Immutability  3. Decentralisation 
a. 1 and 2   b. 1 and 3   c. 2 and 3   
d. 1, 2 and 3   e. Answer not known 
g;shf; nrapd; nlf;dhy[papd; J}z;fs; vit? 
1. ntspg;gilj;jd;ik 2. khWjy; ,y;yhjJ 3. gutyhf;Fjy; 
a. 1 kw;Wk; 2   b. 1 kw;Wk; 3   c. 2 kw;Wk; 3 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 

126. A molecular orbital can accommodate only two electrons and these two electrons 
must have opposite spins. This principle is known as 
a. Aufbau principle   b. Hund’s rule 
c. Heisenberg principle  d. Pauli’s exclusion principle 
e. Answer not known 
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xU %yf;$W Mh;gpl;lhypy; ,uz;L vy;f;l;uhd;fis kl;Lk; epug;g ,aYk;. me;j 
,uz;L vyf;l;uhd;fSk; vjpnujph; Row;rpia cilait. ,j;jj;Jtk;/ 
a. M/gh jj;Jtk;   b. `_z;l; tpjp 
c. n`a;rd;gh;f; Nfhl;ghL  d. ghypapd; jtph;f;if jj;Jtk; 
e. tpil njhpatpy;iy 

 
127. What is the value of the Bohr radius of the electron in the ground state of hydrogen? 

a. 1.53 Aº  b. 0.35 Aº   c. 0.53 Aº    
d. 3.15 Aº  e. Answer not known 
jiukl;l i`l;u[d; mZtpYs;s vyf;l;uhdpd; Nghh; Muj;jpd; kjpg;G vd;d? 
a. 1.53 Aº  b. 0.35 Aº   c. 0.53 Aº    
d. 3.15 Aº  e. tpil njhpatpy;iy 

 
128. Consider the following statements. 

Assertion (A): Diamond is not a good conductor of electricity. 
Reason (R)     : It has no free electron. 
a. Both (A)and (R) true and (R) is the reason for (A) 
b. Both (A)and (R) true and (R) is not the correct reason for (A) 
c. (A) is true but (R) is false 
d. Both (A) and (R) are false 
e. Answer not known 
fPo;fz;l thf;fpaq;fis ftdpf;fTk;. 
$w;W(A):  ituk; xU kpd;flj;jp my;y. 
fhuzk;(R)     : ,J jdpj;j vyf;l;uhid ngw;wpUf;ftpy;iy. 
a. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp (R) MdJ $w;W (A)–d; rhpahd 

fhuzk; MFk;.  
b. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rhp (R) MdJ $w;W (A)–d; rhpahd 

fhuzk; my;y. 
c. $w;W (A) rhp> fhuzk; (R) jtW 
d. $w;W (A) kw;Wk;; fhuzk; (R) ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 

129. Match the following List I with List II  
       A. Chloride ion  1. Constituent of plastocyanin 
  B. Zinc   2. Enzyme activator for photolysis 
  C. Copper   3. Necessary for translocation of sugars 
  D. Boron   4. Essential for the biosynthesis of IAA  
   A B C D 

 a. 2 4 3 1 
 b.  2 4 1 3 
 c.  4 2 3 1 
 d.  4 3 2 1 
 e. Answer not known 

fPNo nfhLf;fg;gl;Ls;s gl;bay;I cld; gl;bay;II I nghUj;Jf.   
gl;bay;  I    gl;bay; II 
A. FNshiuL madp  1. gpsh];Nlhradpd; cl;nghUs; 
B. Jj;jehfk;   2. xspg;gpsj;jypd; nehjp nray;gLtjw;F 
C. fhg;gh;   3. rh;f;fiu ,lh;ngah;tpw;F ,d;wpaikahjJ 
D. Nghuhd;   4. IAA caphpay; Nrh;f;iff;F Kf;fpakhdJ 
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   A B C D 
  a.  2 4 3 1 
  b.  2 4 1 3 
  c.  4 2 3 1 
  d.  4 3 2 1 
  e. tpil njhpatpy;iy 

 
130. Which of the following is correct? 

a. pH – pOH = 14  b.pH + pOH = 7   c. pH - pOH = 0  
d.pH + pOH = 14  e. Answer not known 
gpd;tUtdtw;Ws; rhpahdJ vJ? 
a. pH – pOH = 14  b.pH + pOH = 7   c. pH - pOH = 0  
d.pH + pOH = 14  e. tpil njhpatpy;iy 

 
131. The higher fatty acid in oil is 

a. Benzoic Acid   b. Palmitic Acid   
c. Crotonic Acid   d. Acetic Acid 
e. Answer not known 
vz;nzapy; cs;s cah; nfhOg;G mkpyk;  
a. ngd;rhapf; mkpyk;  b. ghy;kpbf; mkpyk;  
c. FNuhl;lhdpf; mkpyk;  d. mrpl;bf; mkpyk; 
e. tpil njhpatpy;iy 

 
132. The isomerism exist in 2-methyl – 2 propanol and 2-butanol 

a. Position isomerism  b. Chain isomerism 
c. Functional isomerism    d. Metamerism 
e. Answer not known 
2-nkj;jpy;-2GNuhg;gdhy; kw;Wk; 2-gpa+l;ldhypy; cs;s khw;wpak; 
a. ,lkhw;wpak;     b. rq;fpyp njhlh; khw;wpak; 
c. tpidj; njhFjp khw;wpak;    d. gFjp khw;wpak; 
e. tpil njhpatpy;iy 

 
133. Which of the following chemicals can be used as Rodenticides? 

i. Zinc phosphide    ii. Sodium fluoro acetate 
iii. thallium sulphate  iv. Dithio carbamate 
a. i and ii only    b. iii and iv only    
c. i, ii and iii only   d. i, ii and iv only  
e. Answer not known 
gpd;tUk; Ntjpg;nghUl;fspy; vitnay;yhk; vyp nfhy;ypahf gad;gLfpwJ? 
i. Jj;jehf gh];igL  ii. Nrhbak; g;SNuh mrpl;Nll; 
iii.jhypak; ry;Ngl;   iv. iljNah fhh;gNkl; 
a. i kw;Wk; ii kl;Lk;   b. iii kw;Wk; iv kl;Lk;   
c. i, ii kw;Wk; iii kl;Lk;  d. i, ii kw;Wk; iv kl;Lk; 
e. tpil njhpatpy;iy 

 

134. The splendid blue colour of ultramarine, which is used in oil paints and paper 
production is due to the presence of which one of the following ions? 
a. Polysulphide  b. Chloride   c. Sulphate 
d. Polyiodides  e. Answer not known  
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vz;nza; tz;zg; G+r;R kw;Wk; jhs; jahhpg;gpy; gad;gLk; fUePyf;fy; (ultramarine) 
fPo;f;fhZk; ve;j xU madpahy; kpfr;rpwe;j ePyepwj;ijg; ngw;Ws;sJ? 
a. gy;ry;igl;L  b. FNshiuL   c. ry;Ngl;L 
d. gy;mNahilL  e. tpil njhpatpy;iy 

 
135. Match the List I with List II 

List I    List II 
(Hydrated Salt)   (Uses) 

A. FeSO4.  7H 2O   1. Textile Industry 
B. Na 2CO 3. 10 H 2O  2. Laboratory Reagent 
C. CuSO 4. 5H 2O   3. Making of Mohr’s Salt 
D. ZnSO 4. 7H 2O   4. Fungicide 
E. BaCl2. 2H 2O   5. Manufacture of Glass 

A B C D E 
 a.  5 3 4 1 2 
 b. 4 5 3 1 2 

c. 3 5 4 1 2 
 d. 5 3 1 3 2 
 e. Answer not known 

gl;bay; I ia gl;bay; II cld; nghUj;Jf. 
gl;bay; I   gl;bay; II 
(ePNuwpa cg;G)  (gad;fs;) 
A.   FeSO4.  7H 2O  1. [Tspj; njhopy; 
B.   Na 2CO 3. 10 H 2O 2.  Ma;tff; fhuzp 
C.   CuSO 4. 5H 2O  3.  Nkhh;]; cg;Gj; jahhpj;jy;  
D.   ZnSO 4. 7H 2O  4.  G+Q;irf; nfhy;yp 
E.   BaCl2. 2H 2O  5.  fz;zhb jahhpj;jy 

A B C D E 
 a.  5 3 4 1 2 
 b. 4 5 3 1 2 
 c. 3 5 4 1 2 
 d. 5 3 1 3 2 
 e. tpil njhpatpy;iy 
 
136. The left over slurry in biogas production is a good manure rich in  

a. Carbon and Hydrogen   b. Nitrogen and Phosphorus 
c. Iodine and Antimony   d. Sodium and Calcium 
e. Answer not known 
caphp thA cw;gj;jpapy; gbAk; fopTfspy; _________ msT kpFe;jpUg;gjhy; rpwe;j 
cukhFk;. 
a. fhh;gd; kw;Wk; i`l;u[d;  b. iel;u[d; kw;Wk; gh];gu]; 
c. mNahbd; kw;Wk; Md;bkdp  d. Nrhbak; kw;Wk; fhy;rpak; 
e. tpil njhpatpy;iy. 

 
137. The measurement which is used to measure the ignition delay of the fuel in diesel 

engine is  
a. Cetane number   b. Octane number  c. Calorific value 
d. Specific energy   e. Answer not known 
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Bry; vQ;rpdpy; cs;s vhpnghUspd; gw;witg;G jhkjf; fhy msit msg;gjw;F 
cjTk; msT 
a. rPl;Nld; vz;   b. Mf;Nld; vz;  c. fNyhhp kjpg;G 
d. jd; Mw;wy;   e. tpil njhpatpy;iy 

 
138. The fertilizer which contain highest nitrogen content is 

a. Ammonium sulphate  b. Calcium ammonium nitrate  c. Urea 
d. Sodium nitrate   e. Answer not known 
mjpf msT iel;u[id cs;slf;fpa cuk; ____ MFk;. 
a. mk;Nkhdpak; ry;/Ngl;  b. fhy;rpak; mk;Nkhdpak; iel;Nul; 
c. A+hpah    d. Nrhbak; iel;Nul; 
e. tpil njhpatpy;iy 

 
139. The insecticides that act as a nerve poison is 

a. Endrin   b. Ethylene dichloride  c. Malathion 
d. Lead Arsenite  e. Answer not known 
euk;G eQ;rhfr; nray;gLk; G+r;rp nfhy;yp ____ MFk;. 
a. vz;l;hpd;   b. vj;jpyPd; il FNshiuL  c. khyjpahd; 
d. <a Mh;rpidl;  e. tpil njhpatpy;iy 
 

140. Consider the following statements: 
I. CO2 is a green house gas, it increases global warming 
II. CO2 absorbs infrared radiation 
Which of the statements given above is/are correct? 
a. I only   b. II only   c. I and II   
d. Neither I nor II  e. Answer not known 
gpd;tUk; $w;Wfis fUj;jpy; nfhs;f. 
I. gRik ,y;y thA> cyf ntg;gkhjiy mjpfhpf;fpwJ. 
II. mfr;rptg;G fjph; tPr;Rfis <h;j;J nfhs;fpwJ. 
Nkw;$wpatw;Ws; rhpahdJ vJ/vit? 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II   
d. I my;yJ II ,uz;Lky;y e. tpil njhpatpy;iy 

 

141. Match the following: 
A. Biological Diversity Act   1. 1972 
B. National Green Tribunals Act  2. 2010 
C. The Environment Protection Act 3. 2002 
D. Wild life Protection Act   4. 1986 

A B C D 
a.  3 2 4 1 
b.  2 3 1 4  
c. 3 4 1 2 
d. 4 3 1 2 
e. Answer not known 
fPo;f;fhz;gtw;iwf; rhpahfg; nghUj;Jf: 
A. caphpay; gd;Kfj;jd;ik rl;lk; 1. 1972 
B. Njrpa gRik jPh;g;ghaq;fs;  2. 2010 
C. RWWr;Roy; ghJfhg;Gr; rl;lk;  3. 2002 
D. tdtpyq;F ghJfhg;Gr; rl;lk;  4. 1986 
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A B C D 
a.  3 2 4 1 
b.  2 3 1 4  
c. 3 4 1 2 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
142. The process of establishment of an organisation in a new habitat is known as 

a.  Ecesis   b.  Migration    c.  Immigration  
d.  Coaction   e.  Answer not known   
xh; caphp jdJ Gjpa thoplj;jpy; jd;id tphpTgLj;Jk; nray; vd;gJ  
a. epiyg;gLj;Jjy;   b. Gyg;ngah;r;rp    c. Fbapwf;fk;  
d. rftpid   e. tpil njhpatpy;iy 

 
143. Match the following: 

A. Silent Spring   1. Edward O. Wilson 
B. The Mismeasure of man  2. Carl Sagan 
C. The Insect Societies  3. Stephen J. Gould 
D. The Cosmic Connection  4. Rachel Carson 

A B C D 
a. 3 1 4 2 
b. 4 2 3 1 
c. 2 4 1 3 
d. 4 3 1 2 
e. Answer not known 
fPo;f;fhz;gtw;iw nghUj;Jf: 
A. iryd;l; ];gphpq;   1. vl;th;L X.tpy;rd; 
B. jp kp];nkrh; Mg; Nkd;  2. fhh;y; Nrfd; 
C. jp ,d;nrf;l; nrhifl;b]; 3. ];Bgd; n[. Nfhy;l; 
D. jp fh];kpf; fndf;~d;  4. Nury; fhh;rd; 

A B C D 
a. 3 1 4 2 
b. 4 2 3 1 
c. 2 4 1 3 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
144. Forest Survey of India (FSI) was created with effect from 

a. June 1, 1981   b. June 11, 1981  c. July 1, 1981 
d. July 11, 1981   e. Answer not known 
,e;jpa td Ma;T (FSI) cUthf;fg;gl;L eilKiwg;gLj;jg;gl;lJ 
a. [{d; 1> 1981   b. [{d; 11> 1981  c. [{iy 1> 1981 
d. [{iy 11> 1981   e. tpil njhpatpy;iy 

 
145. Which among the following is known as “Terror of Bengal”? 

a. Algal Bloom   b. Eichhornia Plant  c. Increased BOD 
d. Eutrophication   e. Answer not known 
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gpd;tUtdtw;wpy; “tq;fhs gaq;futhjp” vd miof;fg;gLtJ vJ? 
a. ghrp ngUf;fk;    b. INfhh;dpah jhtuk;   
c. cah;e;j caphpay; Mf;]p[d; Njit d. Cl;l tsk; kpFj;jy;   
e. tpil njhpatpy;iy 

 
146. Which of the following statement is/are incorrect? 

(i) Pyramid of energy is always upright. 
(ii) Nilgiris bioreserve covering Tamil Nadu, Kerala and Karnataka States. 
(iii) Namdapha bioreserve is located in Andhra Pradesh. 
(iv) Nandadevi bioreserve is located in Uttar Pradesh. 
a. (i) and (ii) only   b. (iii) only   c. (iv) only 
d. (ii) and (iii) only   e. Answer not known 
gpd;tUtdtw;wpy; jtwhd $w;wpidj; Njh;e;njLf;fTk; 
(i) Mw;wypd; gpukpL vg;nghOJk; Neuhf fhzg;gLk;. 
(ii) ePyfphp caph;f;Nfhs fhg;gfk; jkpo;ehL> Nfush> fh;ehlfk; Mfpa khepyq;fspy; 
gutp cs;sJ. 
(iii) ek;jgh caph;f;Nfhs fhg;gfk; Me;jpug; gpuNjrk; khepyj;jpy; cs;sJ. 
(iv) ee;jh Njtp caph;f;Nfhs fhg;gfk; cj;jpug;gpuNjr khepyj;jpy; mike;Js;sJ.  
a. (i) kw;Wk; (ii) kl;Lk;  b. (iii) kl;Lk;   c. (iv) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 

 
147. When a bacterium is placed in nutrient solution if it moves positively towards the 

nutrient solution and the phenomenon is said to be what? 
a. Hibernation  b. Cytolysis   c. Chemotaxis 
d. Turbidity   e. Answer not known 
xU ghf;l;Bhpak; mjd; czT jputj;ij Nehf;fp <h;f;fg;gLk; epiy vt;thW 
miof;fg;gLfpwJ? 
a. cwf;fepiy  b. nry; ,wg;G  c. Ntjpj; J}z;ly; 
d. fyq;fy; jd;ik  e. tpil njhpatpy;iy 

 
148. Match the following 

A. Apospory  1. Development of a sporophyte directly from the gametophyte 
B. Apogamy  2. Fruit formation without fertilization of ovules 
C. Parthenocarpy 3. Development of an embryo from an unfertilized egg cell 
D. Parthenogenesis 4. Development of gametophytes directly from the sporophyte 

A B C D 
a. 2 3 4 1 
b. 1 4 3 2 
c. 4 1 2 3 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf 
A. mg;Ngh];Nghhp  1. Nfkpl;Nlhigl;bypUe;J Neubahf ];NghNuhigl;  

cUthFtJ 
B. mg;NghNfkp  2. fUTwhky; gok; cUthFtJ 
C. ghh;j;jpNdhfhh;gp  3. fUTwhj Kl;il nry;ypypUe;J fU cUthtJ 
D. ghh;j;jpNdhn[dPrp]; 4. ];NghNuhigl;bypUe;J NeubahfNfkpl;Nlhigl;  

cUthtJ 
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  A B C D 
 a. 2 3 4 1 
 b. 1 4 3 2 
 c. 4 1 2 3 
 d. 2 4 1 3 
 e. tpil njhpatpy;iy 

 
149. _______ is the unique characteristic feature of mammals. 

a. Cold-blooded animals  b. Pneumatic bones  c. Presence of gills  
d. Placenta    e. Answer not known 
ghY}l;bfspd; jdpj;jd;ik _____________ Mfk; 
a. Fsph; ,uj;j tpyq;Ffs;  b. fhw;wiwfs; nfhz;l vYk;Gfs; 
c. nrTs;fs; ,Ug;gJ  d. jha;-Nra; ,izg;Gj; jpR 
e. tpil njhpatpy;iy 

 
150. Jawless vertebrates are 

a. Cephalochordates  b. Urochordates  c. Cyclostomes 
d. Amphibians   e. Answer not known 
jhilaw;w KJnfYk;gpfs; vd;git ahit? 
a. jiy KJF gpuhzpfs;  b. thy; KJF gpuhzpfs;  
c. tl;lthAila caphpfs;  d. ,Utho; caphpdq;fs; 
e. tpil njhpatpy;iy 

 
151. How many pairs are correctly matched? 

1. Ancyclostoma  - Whip Worm 
2. Enterobius   - Hook Worm 
3. Wuchereria  - Pin Worm 
4. Trichuris   - Filarial Worm 
a. One pair   b. Two pairs   c. Three pairs 
d. All four pairs  e. Answer not known 
vj;jid ,izfs; rhpahf nghUe;jpAs;sd? 
1. md;irf;Nyh];Nlhkh - rhl;il GO 
2. vd;NlhNuhgpa];  - nfhf;fp GO 
3. tr;nrNuhpah  - Ks; GO 
4. l;iuFhp];   - /igNyhpay; GO 
a. xU ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. midj;J ,izfSk; e. tpil njhpatpy;iy 

 

152. Elephantiasis is caused by 
a. Trypanosoma  b. Wuchereria bancrofti c. Ascaris lumbricoides  
d. Plasmodium vivax e. Answer not known 
ahidf;fhy; Nehia Vw;gLj;Jk; caphp 
a. bhpg;gdNrhkh   b. cr;rhPhpah ghq;f;ug;b  
c. m];fhhp]; Yk;gphpfha;l]; d. gpsh];Nkhbak; itthf;];  
e. tpil njhpatpy;iy 

 

153. Cancer of the epithelial cells is called 
a. Leukemia   b. Sarcoma   c. Carcinoma 
d. Lepoma    e. Answer not known  
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vgpjPypay; nry;ypy; Gw;WNeha; cUthtjw;F _______ vd;W ngah;. 
a. Y}f;Nfhkpah   b. rhh;f;Nfhkh   c. fhh;rpNdhkh 
d. ypg;Nghkh   e. tpil njhpatpy;iy 

 
154. Germ plasm theory was proposed by 

a. Charles Darwin  b. August Weismann c. Gregor Johann Mendel 
d. Hugo Devries  e. Answer not known 
n[h;k; gpshrk; Nfhl;ghl;il Kd;nkhope;jth; 
a. rhh;y]; lhh;tpd;   b. Mf];l; ntha;];Nkd; c. fpufh; N[h`hd; nkz;ly; 
d. `_Nfh bthp];  e. tpil njhpatpy;iy 

 
155. Match the following: 

A. Carrageenin  1. Insulation of boilers 
B. Diatomite    2. Dental impression 
C. Kelps   3. Irish moss 
D. Alginic acid  4. Brown Algae 
 A B C D 
a. 3 4 1 2 
b. 4 1 3 2 
c. 2 1 3 4  
d. 3 1 4 2 
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;J 
A. fuh[pdpd;   1. nfhjpfyd;fspd; fhg;Gg; nghUs; 
B. lal;Nlhikl;  2. gy; gbkk; 
C. nfy;g;];   3. Ihp~; ghrp 
D. my;[pdpf; mkpyk;  4. gOg;Gg; ghrpfs; 

A B C D 
a. 3 4 1 2 
b. 4 1 3 2 
c. 2 1 3 4  
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
156. Next term in the sequence 3,7,13,21,31 is  

a. 39  b. 41  c. 43  d. 45  e. Answer not known 
3,7,13,21,31 vd;w njhlhpy; mLj;j cWg;G 
a. 39  b. 41  c. 43  d. 45  e. tpil njhpatpy;iy 

 
157. A competitive exam paper has 100 questions for which 1 mark will be awarded for 

each correct answer and 
1

2
 mark will be deducted for every wrong answer, 

1

4
mark 

will be deducted for non- answering. Find the total mark scored by a candidate who 
answered 88 questions of which 61 are correct.  
a. 61  b. 44.5  c. 44.25 d. 54  e. Answer not known 
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100 tpdhf;fs; nfhz;l xU Nghl;bj; Njh;tpy; rhpahd tpilaspf;Fk; xt;nthU 

tpdhtpw;Fk; 1 kjpg;ngz; toq;fg;gLfpwJ. jtwhd tpilf;F 
1

2  
kjpg;ngz; 

fopf;fg;gLfpwJ. NkYk; tpilaspf;fhj Nfs;tpf;F 
1

4  
kjpg;ngz; fopf;fg;gLfpwJ. xU 

Njh;th; 88 tpdhf;fSf;F tpilaspf;fpwhh;. mtw;Ws; 61 tpdhf;fSf;F rhpahd 
tpilaspj;jpUf;fpwhh; vdpy; mth; ngWk; kjpg;ngz; vt;tsT?  
a. 61  b. 44.5  c. 44.25 d. 54   e. tpil njhpatpy;iy  

 
158. On a palm tree of height 32 cubit, a chameleon tried to reach the top of the tree. If it 

climbed one hand span on it but slipped four fingers on one day. How many days 
will it take to reach the top of the tree? 
a. 96 days   b. 69 days    c. 94 days  
d. 64 days   e. Answer not known 
32 Kok; cila gidkuj;jpy;> gr;Nrhe;jp xd;W ku cr;rpia mila Kay;fpwJ. 
xU ehisf;F xU rhz; Vwp ehY tpuy; fPNo ,wq;FfpwJ vdpy; ku cr;rpia mila 
gr;Nrhe;jp vj;jid ehs;fis vLj;Jf;nfhs;Sk;? 
a. 96 ehs;fs;   b. 69 ehs;fs;    c. 94 ehs;fs;  
d. 64 ehs;fs;  d. tpil njhpatpy;iy 

 
159. A total of 324 coins of 20 paise and 25 paise makes a sum of Rs. 71.  The number of 

25 paise coins is 
a. 120  b. 124  c. 144  d. 200  e. Answer not known 
324 ehzaq;fspy; 20 igrh kw;Wk; 25 igrh nfhz;l ehzaq;fspd; nkhj;j kjpg;G 
&. 71 vdpy;> 25 igrh ehzaq;fspd; vz;zpf;if fhz;f. 
a. 120  b. 124  c. 144  d. 200  e.  tpil njhpatpy;iy 
 

160. How many days are there in x weeks x days? 
a. 7x2  b. 8x  c. 14x  d. 7  e. Answer not known 
x thuk; x ehl;fspy; vj;jid ehl;fs; cs;sd? 
a. 7x2  b. 8x  c. 14x  d. 7  e. tpil njhpatpy;iy 

 
161. The term ‘Emasculation’ refers to 

a. Removal of flowers b. Removal of anthers  c. Removal of carpels 
d. Removal of perianth e. Answer not known 
‘,kh];FNy~d;’ vd;w nrhy; vjid Fwpg;gpLfpwJ. 
a. G+it ePf;FtJ  b. kfue;j jhs;fis ePf;FtJ c. #yfj;ij ePf;FtJ 
d. G+tpjo;fis ePf;FtJ e. tpil njhpatpy;iy 

 
162. Which Biopesticide has been proven to be very effective in controlling locusts? 

a.  Metarhizium acridum  b. Bacillus Thuringiensis 
c. Trichoderma viride  d. Pseudomonas Fluorescens 
e. Answer not known 
ntl;Lf;fspiaf; fl;Lg;gLj;Jtjpy; kpfTk; gaDs;sjhf ep&gpf;fg;gl;Ls;s caph; 
G+r;rpf;nfhy;yp vJ? 
a. nkl;lhiurpak; mf;hplk;  b. ghrpy]; JhpQ;rpnad;rp];  
c. biuf;Nfhnlh;kh tphpb  d. #NlhNkhdh]; /g;Nshurd;];  
e. tpil njhpatpy;iy 
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163. Which one of the following device is used for controlling particulate emission at 
power plants, cement and paper mills? 
a. Electrostatic precipitator b. Catalytic converter 
d. Trickling filter   d. Sand filter 
e. Answer not known 
fPo;fhZk; fUtpfspy; vJ fhw;wpd; JfSU khRf;fis ePf;f kpd;rf;jp epiyaq;fs;> 
rpnkz;l; njhopw;rhiyfs;> fhfpjj; njhopw;rhiyfs; Mfpatw;wpy; 
gad;gLj;jg;gLfpwJ> 
a. epiykpd; tPo;gbthf;fp (vyf;l;Nuh];Nlbf; gphprpg;gpNll;lhh;) 
b. tpidA+f;f khw;wp (Nfl;lybf; fd;th;lh;) 
c. nrhl;LKiw tbfl;b 
d. kzy; tbfl;b 
e. tpil njhpatpy;iy 

 
164. ‘Guttation’ takes place through 

a. Hydathode   b. Lenticel   c. Stomata 
d. Cuticle    e. Answer not known 
‘ePh;f;frpT’ ,jd; %yk; eilngWfpwJ 
a. i`lNjhL    b. nyz;bnry;  c. ,iyj;Jis 
d. fpA+l;bfps;    e. tpil njhpatpy;iy 

 
165. The ‘Operon model’ for Gene regulation was proposed by  

a. Messelson and Stahl b. Watson and Crick  c. Jacob and Monod 
d. Avery and McCleoid  e. Answer not known 
kugZ ntspg;ghl;il newpg;gLj;JjYf;fhd ‘xg;gud; khjphpia’ Kd;nkhope;jth; 
a. kpry;rd; kw;Wk; ];lhy;  b. thl;rd; kw;Wk; fphpf;  
c. N[f;fg; kw;Wk; NkhdhL  d. Vthp kw;Wk; nkf;ypaha;L 
e. tpil njhpatpy;iy 

 
166. Which of the following events occur during hibernation in animals? 

(i) Oxygen consumption rate is reduced 
(ii) Heart beat rate of animal is increased 

(iii) The body temperature falls 1-2 C below the environmental temperature 
a. (i) and (ii) are correct  b. (i) and (iii) are correct 
c. (ii) and (iii) are correct  d. (iii)only correct 
e. Answer not known 
Fsph;fhy cwf;f epiyapy; tpyq;Ffs; ,Uf;Fk;nghOJ> fPo;f;fz;ltw;Ws; 
ve;epfo;Tfs; eilngWfpwJ? 
i. Mf;]p[d; Efh;T tpfpjk; Fiwf;fg;gLfpwJ 
ii. tpyq;Ffspd; ,jaj;Jbg;G mjpfhpf;fpwJ 

iii. cly; ntg;gepiy Rw;Wr;#oy; ntg;gepiyia tpl 1-2C fPNo FiwfpwJ 
a. (i) kw;Wk;  (ii) rhpahdit  b. (i) kw;Wk;  (iii) rhpahdit 
c. (ii) kw;Wk;  (iii) rhpahdit d. (iii) kl;LNk rhpahdJ 
e. tpil njhpatpy;iy 

 
167. Assertion (A) : Atelectasis means collapse of the alveoli. 

Reason (R): Total obstruction of the airway and lack of surfactant in the fluid lining 
of the alveoli 
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a. Assertion (A) is wrong, Reason (R) is correct 
b. Assertion (A) and Reason (R) are correct but Reason (R) does not explain 

Assertion (A) 
c. Assertion (A) and Reason (R) are wrong 
d. Assertion (A) and Reason (R) are correct, Reason (R) explains Assertion (A) 
e. Answer not known 
fUj;J (A): mbnyf;lh]p]; vd;gJ EiuaPuy; fhw;W Ez;ig NrjkiltjhFk;. 
fhuzk; (R): fhw;Wg;ghij KOtJk; NrjkiltJ kw;Wk; fhw;W Ez;igapd; 
Nkw;gug;G jputk; FiwtJk; MFk;. 
a. fUj;J (A) jtW. fhuzk; (R) rhp 
b. fUj;Jk; (A) fhuzKk; (R) rhp> Mdhy; fhuzk; (R) fUj;ij (A) tpsf;Ftjhf 

mikatpy;iy 
c. fUj;Jk; (A) fhuzKk; (R) jtW 
d. fUj;Jk; (A) fhuzKk; (R) rhp> fhuzk; (R) fUj;ij (A) tpsf;FfpwJ. 
e. tpil njhpatpy;iy 

 
168. Arrange the hormones in order during the female reproductive cycle. 

(1) Luteinizing hormone 
(2) Progesterone 
(3) Prolactin 
(4) Follicle stimulating hormone 
a. 2, 4, 1, 3   b. 4, 1, 2, 3   c. 3, 4, 1, 2   
d. 1, 4, 2, 3   e. Answer not known 
ngz; ,dg;ngUf;f Row;rpapd; thpirapy; `hh;Nkhd;fis thpirg;gLj;jTk;. 
(1) Ybidrpq; `hh;Nkhd; 
(2) GNuhn[];l;bNuhd; 
(3) g;Nuhyhf;bd; 
(4) fUKl;il J}z;Lk; `hh;Nkhd; 
a. 2, 4, 1, 3   b. 4, 1, 2, 3   c. 3, 4, 1, 2   
d. 1, 4, 2, 3   e. tpil njhpatpy;iy 
 

169. Consider the following statements:  
Assertion (A) : The human white blood corpuscles are colourless. 
Reason (R) : They do not have the respiratory pigment haemoglobin.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;.  
$w;W (A) : kdpj ,uj;j nts;isaZf;fs; epwkw;wit.  
fhuzk; (R): ,itfs; Rthr epwkpahd P̀NkhFNshgpid ngw;wpUf;ftpy;iy.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 
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170. Which of the following produces antibodies during bacterial and viral infections?  
a. Monocytes   b. Lymphocytes    c. Eosinophils   
d. Basophils    e. Answer not known 
gpd;tUtdtw;Ws; vJ itu]; kw;Wk; ghf;Bhpah Neha;j; njhw;Wjypd; NghJ 
vjph;g;nghUis cUthf;Ffpd;wd?  
a. NkhNdhirl;Lfs;  b. ypk;/Nghirl;Lfs;   c. <rpNdh/gpy;fs;   
d. NgNrh/gpy;fs;   e. tpil njhpatpy;iy 

 
171. Find the correct statements about Thrombocytes.  

1. These are small and colourless  
2. They do not have nucleus  
3. There are about 2,50,000 – 4,00,000 platelets / cubic mm of blood.  
4. They play an important role in clotting of blood.  
a. 1, 2, 3, 4 correct    b. 4 correct 1, 2, 3 incorrect  
c. 3, 4 correct 1, 2 incorrect   d. 1, 3, 4 correct 2 incorrect  
e. Answer not known 
jpuhk;Nghirl;Lfs; gw;wpa rhpahd thf;fpaq;fis fz;Lgpbf;fTk; 
1. ,it mstpy; rpwpait kw;Wk; epwkw;wit  
2. ,tw;wpy; cl;fU ,y;iy  
3. xU fd kpy;ypkPl;lh; ,uj;jj;jpy; 2>50>000 – 4>00>000 tiu jpuhk;Nghirl;Lfs; 

cs;sd.  
4. ,uj;jk; ciwjypy; Kf;fpa gq;F tfpf;fpd;wd.  
a. 1, 2, 3, 4 rhp    b. 4 rhp 1, 2, 3 rhpay;y  
c. 3, 4 rhp 1, 2 rhpay;y  d. 1, 3, 4 rhp 2 rhpay;y  
e. tpil njhpatpy;iy 

 
172. Find the correct statement about vein.  

1. Red in colour  
2. Internal valves are present  
3. All veins carry deoxygenated blood except pulmonary veins.  
4. Deep location in the body 
a. 1, 2, 3, 4 correct    b. 1, 2, 3 correct 4 incorrect  
c. 2, 3, 4 correct 1 incorrect   d. 1, 2, 4 correct 3 incorrect  
e. Answer not known 
rpiu gw;wpa rhpahd thf;fpaq;fis fz;Lgpbf;fTk;  
1. rptg;G epwj;jpid cilaJ 
2. cs;sPL thy;Tfs; cz;L  
3. EiuaPuy; rpiuapid jtpu kw;w midj;J rpiufSk; Mf;rp[d; Fiwe;j 

,uj;jj;jpid vLj;J nry;fpd;wd.  
4. clypd; Mo;gFjpapy; mike;Js;sJ.  
a. 1, 2, 3, 4 rhp    b. 1, 2, 3 rhp 4 rhpay;y  
c. 2, 3, 4 rhp 1 rhpay;y   d. 1, 2, 4 rhp 3 rhpay;y 
e. tpil njhpatpy;iy 

 

173. Which of the following phylum has open type of circulatory system?  
a. Arthropods   b. Molluscs    c. Ascidians    
d. All of these   e. Answer not known 
gpd;tUtk; tpyq;F njhFjpfSs; vJ jpwe;j tif ,uj;j Rw;Nwhl;l kz;lyj;ij 
ngw;wpUf;fpwJ?  
a. fZf;fhypfs;   b. nky;Ylypfs;   c. mrpbad;fs;    
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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174. Consider the following statements:  
Assertion (A) : The left and right ventricles have thick walls.  
Reason (R): The ventricles have to pump out blood with force away from the heart.  
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)  
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; fUj;jpy; nfhs;. 
$w;W (A) : ,lJ kw;Wk; tyJ ntz;l;hpf;fpspd; Rth;fs; jbj;J fhzg;gLfpd;wd  
fhuzk; (R): ntz;l;hpf;fps;fs; ,jaj;jpypUe;J mjpf tpirAld; ,uj;jj;ij ce;jp 
nrYj;Jfpd;wd.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
175. In an healthy adult during normal resting condition systolic and diastolic blood 

pressure is expressed as __________.  
a. 100 mm / 60 mm Hg  b. 110 mm / 75 mm Hg c. 115 mm / 75 mm Hg  
d. 120 mm / 80 mm Hg  e. Answer not known 
xU MNuhf;fpakhd kdpjhpy; xa;thf cs;s epiyapy; rp];Nlhypf; kw;Wk; 
la];Nlhypf; mOj;jkhdJ _______ mstpy; fhzg;gLfpwJ.  
a. 100 mm / 60 mm Hg  b. 110 mm / 75 mm Hg c. 115 mm / 75 mm Hg  
d. 120 mm / 80 mm Hg   e. tpil njhpatpy;iy 

 
176. Myelin sheath is covered by a layer of ________ cells.  

a. Shelidean     b. Hooke      c. Bowery  
d. Schwann     e. Answer not known 
ikaypd; ciwapd; Nkw;Gwk; ________ nry;fshy; Md ciwahy; 
ghJfhf;fg;gLfpwJ.  
a. ];yPld;     b. `{f;      c. ngsNthp  
d. ];thd;     e. tpil njhpatpy;iy 

 
177. Consider the following statement : 

Assertion (A) : Meningitis is an inflammation of the meninges  
Reason (R) : It can occur when fluid surrounding the meninges becomes infected by 
bacteria and virus.  
a. Both (A) and (R) is correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) is correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false  
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fis fUj;jpy; nfhs;f. 
$w;W (A): "nkdpQ;irb];" vd;gJ %is ciwfspy; Vw;gLk; tPf;fkhFk;. 
fhuzk; (R): %is ciwiar; Rw;wp cs;s jputj;jpy; Vw;gLk; itu]; kw;Wk; 
ghf;Bhpaq;fspd Neha;j;njhw;W ,jw;Ff; fhuzkhfpwJ.  
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a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 
178. Match the following:  
 List – I     List – II  

A. Duramater    1. Middle membrane  
B. Arachnoid membranes  2. Outermost membrane  
C. Piamater     3. innermost membrane  
D. White matter    4. Presence of myelin sheath  
E. Gray matter    5. Absence of myelin sheath  
 A B C D E 
a. 1 2 3 5 4  
b. 2 1 3 5 4  
c. 2 1 3 4 5  
d. 1 3 2 4 5  
e. Answer not known 
nghUj;Jf:  
 gFjp – I    gFjp - II  
A. bA+uhNkl;lh;   1. eLg;Gw ciw  
B. muf;fdha;L ciw   2. ntspg;Gw ciw  
C. igah Nkl;lh;   3. cl;Gw ciw  
D. nts;is epwg;gFjp  4. ikaypd; ciw cs;sJ 
E. rhk;gy;epw gFjp    4. ikaypd; ciw mw;wJ 
 A B C D E 
a. 1 2 3 5 4  
b. 2 1 3 5 4  
c. 2 1 3 4 5  
d. 1 3 2 4 5 
e. tpil njhpatpy;iy  

 
179. Which of the following is secreted by Adenohypophysis?  

1. GH  2. PRL  3. GTH  4. ADH  5. FSH 
a. 1, 2, 3, 4, 5 correct   b. 1, 2, 3, 5 correct 4  incorrect  
c. 1, 2, 3 correct 4, 5 incorrect  d. 1, 3, 5 correct 2, 4 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ mbNdhi`g;Nghig]prhy; Ruf;fg;gLfpwJ?  
1. GH  2. PRL  3. GTH  4. ADH  5. FSH 
a. 1, 2, 3, 4, 5 rhp    b. 1, 2, 3, 5 rhp 4  rhpay;y  
c. 1, 2, 3 rhp 4, 5 rhpay;y   d. 1, 3, 5 rhp 2, 4 rhpay;y  
e. tpil njhpatpy;iy 

 
180. Which of the following is caused by deficiency of thyroid hormones in adults?  

a. Simple Goitre   b. Grave's disease    c. Myxoedema  
d. Cretinism    e. Answer not known 
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gpd;tUtdtw;Ws; vJ nghpath;fspy; ijuha;L `hh;Nkhd; Fiwthf Rug;gjhy; 
Vw;gLfpwJ?  
a. vspa fha;l;lh;  b. fpNutpd; Neha;    c. kpf;]pbkh   
d. fphpl;bdPrk;   e. tpil njhpatpy;iy 

 
181. Inflammation of lung alveoli decrease surface area for gas exchange and cause 

________.  
a. Emphysema   b. Empyema     c. Bronchitis    
d. Pleuritis    e. Answer not known 
EiuaPuypd; %r;R rpw;wiwfspy; Vw;gLk; tPf;fk; thA ghpkhw;wj;jpw;fhd Nkw;gug;ig 
Fiwj;J _________ vDk; Nehia cz;lhf;FfpwJ. 
a. vk;igrPkh   b. vk;igkh     c. gpuhq;ifl;b];  
d. G@iul;b];   e. tpil njhpatpy;iy 

 
182. AIDS virus has been found in _______ Secretions.  

1. Urine   2. Tears     3. Saliva   
4. Breast milk  5. Vaginal secretions  
a. 1, 3, 4, 5 correct 2 incorrect   b. 1, 2, 3, 4, 5 correct 
c. 3, 4, 5 correct 1, 2 incorrect  d. 4, 5 correct 1, 2, 3 incorrect  
e. Answer not known 
va;l;]; Neha;f;fhd itu]; _______ Rug;Gfspy; fhzg;gLfpwJ.  
1. rpWePh;   2. fz;zPh;     3. ckpo;ePh;  
4. jha;g;ghy;   5. fy;tpf;fhy;tha; Rug;Gfs;  
a. 1, 3, 4, 5 rhp 2 rhpay;y    b. 1, 2, 3, 4, 5 rhp  
c. 3, 4, 5 rhp 1, 2 rhpay;y    d. 4, 5 rhp 1, 2, 3 rhpay;y  
e. tpil njhpatpy;iy 

 
183. Match the following: 
 Common name   Binominal name 

A. Tape worm   1. Taenia Solium 
B. Round worm   2. Ascaris lumbricoides 
C. Earth worm   3. Lampito mauritii 
D. Leech    4. Hirudinaria granulosa 
 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c. 4 3 2 1 
d. 1 3 2 4 
e. Answer not known 
nghUj;Jf:- 
nghJg;ngah;    ,Unrhw;ngah; 
A. ehlhg;GO     1. Bdpah Nrhypak; 
B. cUisg;GO   2. m];fhhp]; Yk;gphpfha;l;]; 
C. kz;GO    3.yhk;gpNlh khhpl;b 
D. ml;il    4. `pUbNdhpah fpuhDNyhrh 
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 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c. 4 3 2 1 
d. 1 3 2 4 
e. tpil njhpatpy;iy 

 
184. The stinging cells called as Cnidoblast found in which of the following Phyllum? 

a. Porifera   b. Coelenterata     c. Arthorpoda     
d.Annelida   e. Answer not known 
rpdpNlhgpsh];l; vd;W miof;fg;gLk; nfhl;Lk; nry;fs; gpd;tUk; njhFjpfspy; vjpy; 
fhzg;gLfpwJ? 
a. JisAlypfs;  b. FopAlypfs;  c. fZf;fhspfs;   
d. tisjirg;GOf;fs; e. tpil njhpatpy;iy 

 

185. Which of the following is an example for Arthropoda? 
1. Prawn  2. Millipede   3. Crab  
4. Spider  5. Scropions 
a. 1, 2, 3, 4, 5 correct   b. 2, 4, 5 correct   1, 3 incorrect                   
 c. 2, 5 correct 1, 3, 4 incorrect d. 2, 3, 4, 5 correct  1 incorrect 
e. Answer not known 
gpd;tUtdtw;Ws; vJ fZf;fhspfSf;F vLj;Jf;fhl;LfshFk;? 
1. ,why;  2. kutl;il   3. ez;L 
4. rpye;jp  5. Njs; 
a. 1, 2, 3, 4, 5 rhp   b. 2, 4, 5 rhp>   1, 3 rhpay;y                               
c. 2, 5 rhp> 1, 3, 4 rhpay;y  d. 2, 3, 4, 5 rhp>  1 rhpay;y 
e. tpil njhpatpy;iy 

 

186. Find the correct statement about mamalia. 
1. They are warm-blooded animals. 
2. Their skin is covered with hairs. 
3. They bear sweat and sebaceous (oil) glands 
4. The external ear or pinnae is present. 
a. 1, 2 correct  3, 4 incorrect  b. 1, 2, 3 correct  4 incorrect   
c. 1, 2, 3, 4 correct   d. 1, 2, 4 correct 3 incorrect 
e. Answer not known 
ghY}l;bfs; gw;wpa rhpahd thf;fpaq;fisf; fz;Lgpb? 
1. ,it ntg;g ,uj;j tpyq;Ffs; MFk;. 
2. ,tw;wpd; cly; Nuhkq;fshy; Nghh;j;jg;gl;Ls;sJ. 
3. cly;  Njhypy;  tpah;itr; Rug;gpfs; kw;Wk; vz;nza;r; Rug;gpfs; cz;L. 
4. ntspf;fhJ kly; ,tw;wpy; fhzg;gLfpwJ.  
a. 1, 2 rhp>  3, 4 rhpay;y  b. 1, 2, 3 rhp>  4 rhpay;y                              
 c. 1, 2, 3, 4 rhp   d. 1, 2, 4 rhp> 3 rhpay;y 
e. tpil njhpatpy;iy  

 

187. Ciliated epithelium is seen in which of the following organ? 
1. Trachea   2. Bronchioles  
3. Kidney tubules    4. Fallopian tubes 
a. 1 correct 2, 3, 4 incorrect   b. 1, 2, 3, 4 correct 
c. 1, 2 correct 3, 4 incorrect   d. 1, 2, 4 correct 3 incorrect 
e. Answer not known 
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gpd;tUk; cWg;GfSs; vjpy; FWapio vgpjPypak; fhzg;gLfpwJ? 
1. Rthrf;Foha;  2. Rthrg;ghijapd; Ez;Foy;fs; 
3. rpWePuff; Foy;fs; 4. mz;lf; Foy;fs; 
a. 1 rhp>  2, 3, 4 rhpay;y   b. 1, 2, 3, 4 rhp                                   
 c. 1, 2 rhp> 3, 4 rhpay;y   d. 1, 2, 4 rhp> 3 rhpay;y. 
e. tpil njhpatpy;iy  

 
188. Consider the following statements  

Assertion (A) :  Nerve cells do not undergo cell division. 
Reason     (R) :  The centrioles are absent in nerve cells. 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A) 
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A) 
c. (A) is true but (R) is false. 
d. (A) is false but (R) is true  
e. Answer not known 
gpd;tUk; thf;fpaq;fisf; ftdp. 
$w;W  (A) : euk;G nry;fs; nry; gFg;gpw;F cl;gLtjpy;iy. 
fhuzk; (R)  : euk;G nry;fspy; nrd;l;hpNahy;fs; fhzg;gLtjpy;iy. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R)vd;gJ (A)f;F rhpahd tpsf;fk;. 
b. (A)kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (R)vd;gJ (A)f;F rhpahd tpsf;fk;  my;y 
c. (A)rhp; Mdhy; (R) jtW 
d. (A)jtW; Mdhy; (R) rhp   
e. tpil njhpatpy;iy 

 
189. Match the following: 

Pancreas Enzymes    Nutrient  
A. Pancreatic Amylase  1. Protein  
B. Trypsin     2. Starch 
C. Chymotrypsin    3. Peptones  
D. Pancreatic lipase    4. Emulsified fats  
 A B C D 
a. 2 3 1 4 
b. 3 2 1 4 
c. 1 2 3 4 
d.     4 3 2 1 
e. Answer not known 
nghUj;Jf: 
fiza nehjpfs;   Cl;lrj;J  
A. fiza mikNy];  1. Gujk;  
B. l;hpg;]pd;     2. ];lhh;r;  
C. ifNkhl;hpg;]pd;    3. ngg;Nlhd;fs;  

D. fiza ypg;Ng];   4. ghy;kkhf;fg;gl;l nfhOg;Gfs;  
 A B C D 
a. 2 3 1 4 
b. 3 2 1 4 
c. 1 2 3 4 
d.     4 3 2 1 
e. tpil njhpatpy;iy 
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190. Match the following:  
 List – I      List – II  

A. World Health day    1. 1st December  
B. World Malaria Day    2. 7th April  
C. World AIDS day     3. 25th April 
D. World Anti-Tuberculosis Day  4. 24th March  
 A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4 
e. Answer not known  
nghUj;Jf:  
 gFjp – I     gFjp – II 
A. cyf Rfhjhu jpdk;    1. brk;gh; 1 
B. cyf kNyhpah jpdk;    2. Vg;uy; 7 
C. cyf va;l;]; jpdk;    3. Vg;uy; 25  
D. cyf fhrNeha; xopg;G jpdk;   4. khh;r; 24 
 A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4  
e. tpil njhpatpy;iy 

 
191. Give an example of killed vaccine  

a. Typhoid vaccine   b. Cholera vaccine   c. Pertusis vaccine   
d. All of these   e. Answer not known 
nfhy;yg;gl;l jLg;G+rp kUe;Jf;F vLj;Jf;fhl;L jUf.  
a. ilgha;L jLg;G+rp  b. fhyuh jLg;G+rp  c. ff;Fthd; jLg;G+rp 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
192. Which of the following is effect of probiotitics?  

1. Decrease the risk of colon cancer  
2. Decrease cholesterol absorption  
3. Prevent diarrheal diseases by increasing the immunity power  
a. 2 correct 1, 3 incorrect   b. 1, 2, 3 correct  
c. 1, 2 correct 3 incorrect   d. 1 correct 2, 3 incorrect  
e. Answer not known 
gpd;tUtdtw;Ws; vJ GNuhgahl;bf;Ffspd; tpisT MFk;?  
1. Fly; Gw;WNeha; Mgj;jpid;f Fiwf;fpd;wd.  
2. nfhy];l;uhy; cwpQ;Rjiyf; Fiwf;fpd;wd.  
3. Neha; vjph;g;ghw;wiy mjpfhpg;gjdhy; tapw;Wg; Nghf;F Neha;fisj; jLf;fpd;wd.  
a. 2 rhp> 1 , 3 rhpay;y   b. 1, 2, 3 rhp  
c. 1, 2 rhp 3 rhpay;y   d. 1 rhp 2, 3 rhpay;y  
e. tpil njhpatpy;iy 
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193. Which of the following disease is caused by prions. 
a. African sleeping sickness   b. Graves – Basedow disease  
c. Creutzfeldt – Jakob disease   d. Cushing's disease  
e. Answer not known 
gpd;tUk; Neha;fSs; vJ gphpahd;fshy; Vw;gLj;jg;gLfpwJ?  
a. Mg;hpf;f J}f;f tpahjp    b. fpNutp];-ghrpNlh Neha;  
c. Fapl;];ngy;l; N[f;fg; Neha;   d. F~;rpq; Neha;  
e. tpil njhpatpy;iy 

 
194. Which of the following is an example for connective tissue? 

1. Blood     2. Lymph    3. Bone   
4. Adipose tissue    5. Areolar tissue  
a. 1, 2, 3, 4, 5 correct   b. 1, 2, 3 correct 4, 5 incorrect  
c. 1, 4, 5 correct 2, 3 incorrect  d. 1, 2, 3, 4 correct 5 incorrect 
e. Answer not known  
gpd;tUtdtw;Ws; vJ ,izg;Gj;jpRtpw;fhd vLj;Jf;fhl;L MFk;? 
1. ,uj;jk;    2. epzePh;    3. vYk;G  
4. nfhOg;Gj; jpR    5. rpw;wpl ,ioaj; jpR  
a. 1, 2, 3, 4, 5 rhp    b. 1, 2, 3 rhp 4, 5 rhpay;y  
c. 1, 4, 5 rhp 2, 3 rhpay;y  d. 1, 2, 3, 4 rhp 5 rhpay;y  
e. tpil njhpatpy;iy 

 
195. Which of the following is functions of Osmoregulation? 

1. It maintains the fluid balance of body  
2. It maintains the concentration of electrolytes 
3. It maintains the homeostasis of the body  
a. 1, 2 correct 3 incorrect   b. 1, 2, 3 correct  
c. 1, 3 correct 2 incorrect   d. 2, 3 correct 1 incorrect  
e. Answer not known 
 gpd;tUtdtw;Ws; vJ CLguty; xOq;Fghl;bd; gzpfs; MFk;?  
1. ,J clypd; jputr;rkepiyia guhkhpf;fpwJ  
2. ,J kpd; gFspfspd; nrwpit guhkhpf;fpwJ 
3. ,J clypd; jd;epiy fhj;jiyg; guhkhpf;fpwJ.  
a. 1, 2 rhp 3 rhpay;y   b. 1, 2, 3 rhp  
c. 1, 3 rhp 2 rhpay;y   d. 2, 3 rhp 1 rhpay;y  
e. tpil njhpatpy;iy 

 
196. The sum and the product of two numbers are 25 and 144 respectively, the difference 

of the number is? 
 a. 3  b. 5  c. 7 d. 11  e. Answer not known 
 ,uz;L vz;fspd; $Ljy; kw;Wk; ngUf;fw;gyd; KiwNa 25 kw;Wk; 144  vdpy; 

mt;ntz;fspd; tpj;jpahrk; fhz;f? 
 a. 3  b. 5      c. 7 d. 11  e. tpil njhpatpy;iy 
 
197. Find out the wrong number in the sequence: 9,13,21,39,69, 133 
 a. 39     b.13       c. 21        d. 69  e. Answer not known     

gpd;tUk; njhlh;thpirapy; jtwhd vz; vd;d? 
9,13,21,39,69, 133 

 a. 39     b.13       c. 21        d. 69  e. tpil njhpatpy;iy 
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198. What us the time 100 hours after 7 a.m? 
a. 7 : 00 a.m    b. 11 : 00 p.m   c. 11 : 00 a.m 
d. 7 : 00 p.m   e. Answer not known 
Kw;gfy; 7 kzpf;F 100 kzp Neuj;jpw;Fg; gpwF Neuk; vd;d? 
a. Kw;gfy; 7 kzp  b. gpw;gfy; 11 kzp  c. Kw;gfy; 11 kzp 
d. gpw;gfy; 7 kzp  e. tpil njhpatpy;iy 

 
199. If 9 times 9th term is equal to 15 times 15th term in an arithmetic progression, then 

find the 24th term. 
a. 1     b. -1     c. 0  
d. Cannot be found    e. Answer not known 
xU $l;Lj; njhlh; thpirapy; xd;gjhtJ cWg;gpd; xd;gjhk; klq;F> gjpide;jhtJ 
cWg;gpd; gjpide;J klq;fpw;F rkk; vdpy; 24-tJ cWg;igf; fhz;f. 
a. 1     b. -1    c. 0   
d. fzf;fpl ,ayhJ  e. tpil njhpatpy;iy 

 
200. The average age of 10 members in the family is 21 years and due to the death of one 

family member the average age us reduced by 2 months. The age of the member 
who died is? 
a. 20 years 10 months  b. 20 1/3 years   c. 22.5 years  
d. 19 1/3 years    e. Answer not known 
xU FLk;gj;jpy; 10 cWg;gpdh;fpd; ruhrhp taJ 21 Mz;Lfs;. xU FLk;g cWg;gpdhpd; 
,wg;Gf; fhuzkhf ruhrhp taJ 2 khjq;fs; Fiwf;fg;gLfpwJ. ,we;j cWg;gpdhpd; 
taJ vd;d? 
a. 20 Mz;Lfs; 10 khjq;fs; b. 20 1/3 Mz;Lfs; c. 22.5 Mz;Lfs; 
d. 19 1/3 Mz;Lfs;  e. tpil njhpatpy;iy 

 

 

 

 


